
in_line_part_number part_description1 part_description2 totalpcs

#00GROMMET/ZC #00GROMMET ZINC MATERIAL 5000

#00GROMWASH/ZC #00 GRMMET WASHER ZINC 5000

#01GROMMET/BRS #1 GROMMET, BRASS MATERIAL 21080

#01GROMWASH/BR #1 GROMMET WASHER, BRASS PLAIN FINISH 30670

1.1SQTBPLG0BLP 1 1/8" SQUARE TUBE PLUG 1/16" WALL, BLACK LPDE POLY 0

1.5SQTBPLG0BLP 1 1/2" SQUARE TUBE PLUG, 1/8" TUBE WALL, BLACK LDPE POLY 0

04X018UDRVE11C #4 X 3/16" ROUND HEAD TYPE "U" DRIVE SCREW, STEEL, ZINC 1,000

4X5X3MILRQLWTG 4 X 5 X 3 MIL PRINTED----HKRQLWTGP 227

08HVYMEDLW002 #8 HEAVY SPLIT LOCKWASHER STEEL, PLAIN FINISH 7600

10X075ANCHRBLN 10-12 X 3/4" PLASTIC WALL ANCHOR - BLUE NOTE: 1" LENGTH 3,830

3/8X750EPDW96R 3/8" X 3/4" OD SEALING WASHER STEEL, GALVANIZED - EPDM RUBBER BACKED 4022

50X50VDCLMP96S 1/2" X 1/2" MEDIUM DUTY LOOP CLAMP, STEEL, GALVANIZED WITH VINYL 497

062X309HKEY008 1/16" LONG HEX KEY ALLOY, BLACK 100

092X070KNLP00S .092" X .700" SPIRAL KNURL PIN .250" KNURL, 302 STAINLESS, PLAIN 10000

093X037SPRP00C 3/32 X 3/8 SLOTTED SPRING PIN, CARBON STEEL, PLAIN FINISH 0

093X062SPRP13C 3/32 X 5/8 SLOT SPRING PIN .0003 ZINC PLATE 2500

093X075SPRP00C 3/32" X 3/4 ROLL PIN , STEEL , PLAIN 950

125X043SPRP00C 1/8" X 7/16" SLOTTED SPRING PIN, STEEL, PLAIN FINISH 1750

125X100CTRP11C 1/8" X 1" EXTENDED PRONG COTTER PIN, STEEL, ZINC PLATED 2700

125X100SPRP00S .125" X 1" SLOTTED SPRING PIN 302 STAINLESS, STL, PLAIN 0

125X112U000ART 1/8 X 1 1/8 SEMI-TUBULAR RIVET, 5056 ALUMINUM 7/32 HEAD DIAMETER 270

125X125U000ART 1/8 X 1 1/4 SEMI-TUBULAR RIVET, 5056 ALUMINUM 7/32 HEAD DIAMETER 1860

140X0375X02112 3/8" OD X .140" ID X .020" THK FLAT WASHER STEEL, ZINC 10850

143X041UO00SRT 141" / .146" X .406" OVAL HD SEMI-TUBE RIVET 302 STAINLESS, PLAIN 0

152X0390X0300N .152" ID X .390" OD X .032" THICK RETAINING WASHER, 6/6 NYLON 3400

152X0390X0600N .152" ID X .390" OD X .062" THK RETAINING  WASHER, 6/6 NYLON - NATURAL 5100

156EXTRING552C 5/32" EXTERNAL SELF-LOCKING RETAINING RING, STEEL, PLATED PHOS 6700

156X037RIVTBLA .156" X 3/8" ROUND HEAD SOLID RIVET, ALUMINUM-HARD & BLACK 0

156X059PIN602 .156 X .590 TRIGGER PIN 12L14 STEEL, BLACK OXIDE 0

156X075RECBMPG 5/8" OD X 3/4" LGTH RECESS BUMPER W/STL INSERT, 70 DURO SBR-GRAY 0

171CUPWASHR00N .171" ID X .414" OD X .206" HGT CUP WASHER 6/6 NYLON, NATURAL 4940

172X075FETT122 .172 X750 SPEC TRUSS HEAD FETTER PIN STEEL, .0002 ZINC 10400

177X0453X0300N #10 RETAINING WASHER FOR ASSEMBLY .177" ID X .277" ID#2 X .453 OD X .032 THK 4100

179X0420X0300N .410/.430" OD X .174/.184" ID X .030" THK NYLON FLAT WASHER 1350

187X056RECBMPR .187" X .562" SPEC RECESS BUMPER STL WASHER INSERT, 70 DURO RUBR 4000

187X0500X03BLN 187" ID X .500" OD X 031" THK FLAT 

 OD X 031" THK FLAT WASHER , 6/63 NYLON 

BLACK 2500

190X0630X0600S .630" OD X .190" X .060" THK FLAT WASHER, 18-8 STAINLESS, PLAIN 610

193X0443X03602 .193" ID X .443" OD X .034" THK FLAT WASHER, STL, BLACK OXIDE 0

194X0312X1200N .194" ID ZX .312" OD X .125" FLAT WASHER 6/6 NYLON - NATURAL 0

195X0437X0300N .195" ID X .437" OD X .032" FLAT WASHER, 6/6 NYLON NATURAL 0

197X0371X01352 .197" ID X .371" OD X .015" THK FLAT WASHER, STEEL, PLATED CADMIUM 2500

200X0500X28BL* .200" X .500" OD  SPECIAL SHOULDERED WASHER 6/6 NYLON - BLACK 0

202X092HING502 .202 X .920 SPEC COLLERED HINGE PIN STL, (KNURLED SHAFT) BLACK POLYSEAL 26350

203X0562X0460S 203"IDX  .562" ODX  .040" THK FLAT WASHER, 18-8 SS, BLACK OX 1850

218X1000X06112 .218: ID X 100" OD X .051/ .080 THK FENDER WASHER , STEEL, ZINC 12500

234X0375X01BLN .234" ID .375" OD X .015" FLAT WASHER, 6/6 NYLON BLACK 17500

240X0750X07112 .750 OD X .240 ID X .075 THK F/W, STL, ZINC 14300

250X031DOWL60S .250" X 5/16" STANDAR DOWEL PIN, 302 SS, BLACK OXIDE 35

250X040SHST502 1/4" X .406" SPECIAL SHLDR SEM-TUBULAR

RIVET, STEEL, PLATED BLACK POLYSEAL PER GM# 

6047M 0

250X050DOWL00N .250" X 1/2" SOLID DOWEL PIN 6/6 NYLON - NATURAL 0

250X050PLASTIP .250 X .500 X .042 BLACK VINYL PLASTITIP 4250

250X200DETPN4S 1/4" X 2" DETENT PIN, 2 1/2" OA PIN LGTH, 18-8 SS, PASSIVATED 0

250X800XMASNWH .250X.800X-MAX TREE 12000

260X0312X1200N .260" ID X .312" OD X .127" THICK FLAT WASHER 6/6 NYLON - NATURAL 2000

260X0505X0500S .260" ID X .505" OD X .057" THK FLAT WASHER 18-8 SS 100



260X0687X06BLN .260" ID X .687" OD X .060" THK FLAT WASHER, 6/6 NYLON-BLACK 36650

265X0375X07BLN .375 OD X .265 ID X .750 THICK SPACER 6/6 NYLON 3000

265X0625X0100S .265" ID .625" OD X .010"/.015" THK FLAT WASHER SHIM, 18-8 STAINLESS 13080

0632050PP11 6-32 X 1/2" PHIL PAN MACHINE SCREW, STEEL, ZINC 20000

0632050SPCRN #6-32 X 1/2" LGTH X 1/4" OD ROUND SPACER 6/6 NYLON - NATURAL 600

0632050UW18CSP 6-32 X 1/2" UNSL IND HEX WASHER HD SHLDR TFS "TT" STL, .0005 ZINC & YELLOW 0

0632075PF11 6-32 X 3/4" PHIL FLAT MACHINE SCREW STEEL, ZINC PLATE 11000

0632075PP11C1 6-32 X 3/4" PHIL PAN TCS TYPE 1 STEEL, ZINC 7500

0632093CP60CF #6-32 X 15/16 COMBO SLOTTED / SQ PAN HD TFS - F, STEEL, PLATED BLACK OC 10200

0632175SR11 #6-32 X 1 3/4 SLOT ROUND HD M/S STEEL, PLATED ZINC 1500

0640009PP60 6-40 X 3/32" PHIL PAN MACHINE SCREW, STEEL, BLACK OXIDE 0

0640018PP00 6-40 X 3/16" PHILLIPS PAN MACHINE SCREW STEEL, PLAIN 0

0640018SP00 6-40 X 3/16" SLOTTED PAN HEAD M/S STEEL, PLAIN 3030

268X104TUFLKBL .268" X 1.039" PIN DRIVE TUFLOK NYLON BLACK, FASTEX #M30-0700-03 500

0640023HS602S1 6-40 X .234 SPEC HEX SOCKET HEAD MACHINE SCREW, STEEL, BLACK OXIDE 1900

0640025SO60 6-40 X 1/4" SLOT OVAL M/S, STEEL PLATED BLACK OXIDE 5900

0640075PP00 6-40 X 3/4" PHIL PAN M/S STEEL, PLAIN 21500

0709200QG55CDW 7 X 2 SQUARE BUGLE HEAD DRYWALL SCREW, STL, BLACK 175

0712125PF1WCVL #7-12 X 1 1/4" PHIL FLAT HEAD VINYL SCREW STL, ZINC W/HD PAINTED WHITE 7000

0716037PF00SA 7-16 X 3/16" PHIL FLAT HEAD SMS A 18-8 STAINLESS STEEL 31830

280X0625X03112 .625" OD X .280" ID X .030" THK FLAT WASHER, ZINC 12210

281X1250X0500S 1/4" X 1 1/4" FENDER WASHER 18-8 STAINLESS, PLAIN 600

281X2000X06112 1/4" FENDER WASHER , STEEL, ZINC .281" ID X 2.000" OD X .051/.080 THK 470

0716062PF67CA #7 X 5/8 PHIL FLAT SMS TYPE A , ANT BRASS 5000

286X0750X06112 .286" ID X. 750" OD X. 060" TKH FLAT WASHER, STEEL, ZINC PLATED 76100

290X0562X0800X .5571. 567 OD X .285/ .295 ID X .071.09 THK STL, FLAT WASHER, PLAIN 181000

290X0565X0900R .290"  ID  X.  565"  OD  X.  09"  THK PLAT  WASHER,  EPDM  RUBBER 4470

290X0687X0900R .290 "  ID  X.687" OD X .09 "THK FLAT  WASHER,  EPDM  RUBBER 1000

312X0500X23BLN .312" ID X .500" OD X .235" ROUND SPACER, 6/6 NYLON-BLACK 0

312X0500X06BLN .312" ID X .500" OD X .062" FLAT WASHER 6/6 NYLON-BLACK 1600

330X0750X0303* .330" ID X .750" OD X .031" FLAT WASHER ACETAL RESIN MATERIAL 17500

343X1000X06642 5/16" FENDER WASHER STEEL, PLATED .0005 HEX FREE ZINC BLACK 0

343X1250X0500S 11/4" OD X 11/32 ID X .050 THICK FLAT WASHER, 18-8 STAINLESS STEEL 200

343X1870X10532 1,870 OD X .343 ID X. 100 THK FLAT WASHER STEEL, PLATED BLACK DAC 10060

344X1000X10222 344" ID X 10" OD X 100" FLAT WASHER, STL, 0005 ZINC & YELLOW 268950

345X0750X07112 .343 X .746 X .076 THICK FLAT WASHER STEEL, ZINC PLATED 3310

393X0750X1000R .393" ID. 750"ODX. 100" THK FLAT WASHER 80 DURO RUBBER-BLACK 5805

0600MEDLW00S #6 MEDIUM SPLIT LOCKWASHER 18-8 STAINLESS STL, PLAIN 260

625X100CLIP502 .625 X 1 SINGLE BARBED SPRING CLIP, STEEL, PLATED SILVER DACROMET 31780

0800EXTLW73C #8 EXTERNAL TOOTH LOCKWASHER, STEEL PLATED DELTA MKS3120-BLACK 400

0800EXTLW112 #8 EXTERNAL TOOTH L/W, STEEL PLATED ZINC 8000

0800FIN00052 #8 FINISHING WASHER STEEL, NICKEL PLATED 18250

0800INTLW112 #8 INTERNAL TOOTH LOCKWASHER STEEL, ZINC PLATED 40350

0800SAE00112 #8 SAE FLAT WASHER, STEEL, PLATED ZINC 15050

0832RIVNUT73AL #8-32 X 7/16 RIVNUT, TYPE A-L STL, .020-.080 MKS3120- BLACK 600

1000EXTLW112 #10 EXTERNAL TOOTH LOCKWASHER STEEL, ZINC PLATED 25000

1000FLGWSHR008 #10 SPECIAL FLANGE COUNTERSUNK FINISHING WASHER 0

1000MEDLW00S 10 MEDIUM SLPIT LOCKWASHER 302 STAINLESS STEEL 700

1000MEDLW112 #10 MEDIUM SPLIT LOCKWASHER STEEL, ZINC PLATED 2300

1000NEOWASH00A #10 X 1/2 OD ALUMINUM NEOPRENE BACKED WASHER 1258

1000SAE00112 #10 SAE FLAT WASHER, STEEL, ZINC 10700

1000USS00112 3/16 USS FLAT WASHER .260" X 9/16" OD PLATED , ZINC 15600

1000USS00272 #10 USS FLAT WASHER, STEEL, PLATED BLACK ZINC  (1/4" X 9/16" X .050") 5000

1016U-NUT54C #10 "U" CLIP FASTENER. STEEL GEOMET 321 PLUS P 115500

1200NEOWASH50G #12 X 1/2" OD STEEL GALVANIZED NEOPRENE BONDED WASHER 2500

1262NEOWASH962 #12 X 5/8" OD NEOPRENE BACKED WASHER STEEL, GALVANIZED 6300

1400NEOWASH0W2 #14 X 5/8 NEO BACKED WASHER, GALVANIZED, PAINTED POLAR WHITE 210

1400NEOWASH0WA #14 X 5/8 OD ALUMINUM NEOPRENE BACKED WASHER PAINTED WHITE 558

2500EXTLW112 1/4" EXTERNAL TOTH LOCKWASHER STEEL, ZINC PLATED 7200

2500INTLW46C 1/4" INTERNAL TOOTH LOCKWASHER STEEL, DELTA-MKS3120-BLK 0

2500INTLW272 1/4" INTERNAL TOOTH LOCKWASHER STEEL, BLACK ZINC 1300

2500MEDLW112 1/4"MEDIUM SPLIT LOCKWASHER STEEL, ZINC PLATED 9544



2500SAE0000S 1/4" SAE FLAT WASHER, 18-8 STAINLESS STEEL PLAIN FINISH 160

2500SAE00352 1/4" SAE FLAT WASHER - STEEL, PLATED CADMIUM 0

2500USS00602 1/4" USS FLAT WASHER, STEEL BLACK OXIDE  (5/16" X 3/4" X .06") 4500

3100MEDLW112 5/16 MED SPLIT LOCKWASHER, STEEL, ZINC PLATED 0

3100MEDLW502 5/16" MEDIUM SPLIT L/W PLATE SILVER DACROMET 80710

3100SAE00522S* 5/16" SAE F/W, STL, SILVER DACROMET 81200

3100SAE00142 5/16" SAE FLAT WASHER, STEEL PLATED .0005 ZINC & CLEAR 9322

3100USS00552 375" ID X 875" OD X .064/.104 TH FLAT WASHER, STEEL PHOSPHATE 3300

3118RIVNUT10CA 5/16-18 HALF HEX RIVNUT (.027/.150 GRIP RANGE) STEEL 3000

3700INTLW11C 3/8" INTERNAL TOOTH LOCKWASHER, STL, ZINC 1416

3700USS0000S 3/8" USS FLAT WASHER, 7/8" OD 18-8 STAINLESS STEEL 392

3724PALNUT112 3/8-24 X 9/16" X 9/64" HEX PALNUT, STEEL, ZINC RF3824 0

4300STR00965 7/16" HARDENED STRUCTURAL WASHER F436 HOT DIP GALVANIZED 2950

5000SAE00212 1/2" SAE FLAT WASHER, STEEL, .0003 ZINC & YELLOW PLT 900

5000USS00922 1/2" USS FLAT WASHER, ZINC TRICHR .562" ID X 1.375" OD X .086"/.132" THK 850

12500E-RING00S 1/8" E-STYLE RETAINING RING 18-8 STAINLESS STEEL 3000

18800E-RING55C .188" E-RING, STEEL, PHOS PLATED .147" GROOVE DIAMETER 0

2520INSRTNT112 1/4-20 X 1/2" HEX DRIVE INSERT NUT WITH SHOULDER STEEL, PLATED ZINC 480

0142025PP60CB 1-42 X 1/4" PHIL PAN SMS B STEEL, BLACK OXIDE 0

250125ANCHR112 1/4" X 1 1/4" MUSHROOM HEAD HAMMER DRIVE ANCHOR, STEEL, ZINC PLATED 38

0256075HS008 2-56 X 3/4" HEX HEAD SOCKET ALLOY, PLAIN 100

303006EZLOK 6-32 INT THRD, 1/4-20 EXT THRD THREADED INSERT, SS W/SEALANT 100

0348018PP11 3-48 X 3/16" PHIL PAN M/S STEEL, ZINC PLATED 1200

0420037PP11CPT 4-20 X 3/8" PHIL PAN TFS PT STEEL, ZINC 0

0424031PP60CHL 4-24 X 5/16" PHIL PAN TFS "H/L" STEEL, BLACK OXIDE 0

0424037PF11CAB 4-24 X 3/8" PHILLISPS FLAT HEAD TYPE A STEEL, ZINC 15700

0424050PF11CA #4-24 X 1/2 PHIL FLT HD SMS A STEEL, ZINC PLATED 23800

0424050PO68CAB 4-24 X 1/2" PHILLIPS OVAL HEAD SMS TYPE AB STELL, BRASS & LAQUER 2000

0424075PP11CAB 4-24 X 3/4" PHILLIPS PAN HEAD TYPE A STEEL, ZINC 7100

0440012H-00SCP #4-40 X 1/8" SOCKET SET SCREW , CUP POINT 18-8 STAINLESS STEEL 0

0440015SO602UC #4-40 X 5/32" SLOT U/C OVAL HD M/S STEEL, BLACK OXIDE 10250

0440025PP11 4-40 X 1/4" PHILLIPS PAN HEAD MACHINE SCREW, STEEL, ZINC 14900

0440031HF008 4-40 X 5/16" FLAT HEAD SOCKET CAP ALLOY, BLACK 600

0440031SF11 #4-40 X 5/16 SLOTTED FLAT HD M/S STEEL, ZINC PLATED 7000

0440037PP11 4-40 X 3/8 PHIL PN MACHINE SCREW STEEL, ZINC PLATED 9200

0440050SF00NBL #4-40 X 1/2" SLOTTED HEAD MACHINE SCREW 8/8 NYLON BLACK 4830

0520025PP11CHL #5-20 X 1/4" PHIL PN HD TFS HI-LO STEEL, ZINC PLATE 4000

0520062PF11CAB 5-20 X 5/8 PHIL FLAT SMS - AB STEEL, ZINC PLATED 1000

0520100PF11CA 5-20 X 1" PHIL FLAT HEAD SMS TYPE A STEEL, ZINC PLATED 4000

0540056SO60 5-40 X 9/16" SLOT OVAL M/S STEEL, BLACK OXIDE 0

0608125PG57CDK #6 X 1 1/4" PHILLIPS BUGLE HD DRYWALL SCREW COARSE THREAD, STEEL, BLACK 163

0608162PG00C 6-8 X 1 5/8" PHILLIPS BUGLE DRYWALL SCREW STEEL, PLAIN 1100

0609162PG19CDW 6X1 5/8" PHIL BUGLE DRYWALL SCREW STEEL, PLATED ZINC & YELLOW 211575

0613075PF0G4VL #6-13 X 3/4" PHIL FLAT HD  T/F/S " VINYL SCREW"

410 STAINLESS , HEAD PAINTED SANDSTONE - 

BEIGE 1500

0613125PF1WCS1 #6-13 X 1 1/4" PHIL #5 FLAT HEAD VINYL

SCREW STEEL, PLATED ZINC W/WHITE HEAD 

PAINT 19800

0618037PF11CA 6-18 X 3/8" PHIL FLAT HD SMS A, STEEL, ZINC PLATED 12000

0618037PP50CA 6-18 X 3/8" PHIL PAN HD SMS - A STEEL, BLACK POLYSEAL 0

0618062PF1GCA #6-18 X 5/8" PHILL FLAT HEAD SMS A STEEL, PLATED ZINC W/BEIGE HEAD PAINT 45350

0618062PF68CA 6-18 X 5/8" PHIL FLAT SMS A, STEEL, BRASS PLATED 1000

0618075PF1GCA 6-18 X 3/4" PHIL FLAT SMS, A ,STL, ZINC W/BEIGE HEAD PAINT 2900

0618087PF1GCA 6-18 X 7/8" PHIL FLAT HEAD SMS TYPE A STEEL, ZINC W/ BEIGE HEADS 9600

0618087PF1WCA 6-18 X 7/8" PHIL SMS TYPE A STEEL, ZINC W/WHITE LOADS 43900

0618100PP1NZA 6-18 X 1" PHIL PAN SMS A, STEEL ZINC W/HEADS PAINTED BRINZE 5000

0618125PP60C17 #6-18 X 1 1/4" PHIL PAN ( #7 HD)TCS TYPE 17, STEEL BLACK FINISCH 3870

0619037PP00SPT 6-19 X 3/8" PHIL PAN HEAD TFS TYPE "PT", 18-8 STAINLESS 4000

0619062PD135PT #6-19 X 5/8" PHIL RD WASHER T/F/S 48-2 TWIN LEAD, STL, ZINC (50HR) 48320



0619062PP27CPT #6-19 X 5/8 PHIL PN HD TFS - PT STEEL, PLATED BLACK ZINC 0

0620025CP60CS1 6-20 X 1/4" SL/SQ PAN HD SERRATED SMS - TYPE B, STEEL, BLACK OXIDE 0

0620025PP11CAB #6-20 X 1/4 PHIL PN SMS AB, STEEL PLATED ZINC 7000

0620025TP60SB 6-20 X 1/4" T15 TORX PAN SMS B 302 STAINLESS, BLACK OXIDE 0

0620037PT11CLH #6-20 X 3/8" PHIL SPEC TRUSS HD SMS , AB STL, ZINC (HD DIA .350/.369) 367700

0620037UW90CT2 #6-20 X 3/8 UNSLOT HEX WASHER SDS #2 TEK PT, STEEL, PLATED .0005 CAD & JS500 7500

0620037ZP11CAB #6-20 X 3/8" POZI PAN SMS TYPE AB STEEL, ZINC 2800

0620050PO60CAB #6-20 X 1/2 PHIL OVAL HD SMS - AB, STEEL, PLATED BLACK OXIDE 9000

0620050PP1WCT2 #6-20 X 1/2" PHILLIPS PAN HD S/D/S # 2 PT STL, ZINC W/HD PAINTED WHITE 3400

0620050PP11CT2 6-20 PHIL PN HD SDS TEK 2 STEEL, ZINC PLATED 10900

0620050PP19CAB 6 X 1/2 PHIL PAN HEAD SMS AB STEEL,  ZINC & YELLOW 280

0620050PP60CAB 6-20 X 1/2" PHIL PN HD SMS, AB STEEL, BLACK OXIDE 4600

0620050PP93CAB 6-20 X 1/2 PHIL PN HD SMS AB STEEL, .0005 ZINC & JS500 13850

0620062PF1WCAB 6-20 X 5/8" PHILL FLAT HEAD TYPE AB , STEEL, ZINC PLATED 31300

 0620062PP11CB #6-20 X 5/8" PHIL PAN HD SMS TYPE B STEEL, ZINC PLATED 0

0620075PF1GCT2 6-20 X 3/4" PHIL FLAT S/D/S # 2 PT STEEL, ZINC , W/HEADS BEIGE 4900

0620075PF1WCT2 6-20 X 3/4" PHIL FLAT SDS #2 PT STEEL, ZINC, W/WHITE HEADS 29500

0620075PP11CAB 6-20 X 3/4" PHIL PN SMS - AB, STEEL, ZINC PLATED 500

0620075PT11CAB #6-20 X 3/4 PHIL TR HD SMS AB, STEEL. PLATED ZINC 0

0620100PF1WCAB #6-20 X 1" PHIL FLAT HEAD SMS AB, PLATED ZINC W/WHITE HEADS PAINTED 10800

0620100PF68CAB 6-20 X 1" PHIL FLAT SMS TYPE AB STL, BRASS LACQUER 2750

0620100PP11CLP 6-20 X 1" PHIL PN HD SMS TYPE B W/ 1/4" LEAD POINT, STEEL, ZINC PLATED 900

0620100PP19CAB #6-20 X 1" PHIL PAN HEAD SMS , TYPE AB, FLAT ZINC AND YELLOW DICHROMATE 3090

0620100PP60CB #6-20 X 1" PHILLIPS PAN HEAD S/M/S TYPE B, STEEL, PLATED BLACK OXIDE 34750

0620125PP11CT2 #6-20 X 1 1/4 PHIL PN SDS #2 POINT STEEL, PLATED ZINC 5820

0620150PP11CLP #6-20 X 1 1/2" PHIL PAN SMS TYPE B W 1/4" LEAD, ZTL, ZINC 2000

0628028CP60CHL #6-28 X .280 SL/SQ PAN HEAD TFS HI-LO STEEL, PLATED BLACK OXIDE 1900

0632018H-608CP #6-32 X 3/16" SOCKET SET SCREW W/ CUP POINT, ALLOY, BLACK 1500

0632018SP60 #6-32 X 3/16" SLOTTED PAN HD M/S STEEL, PLATED BLACK OXIDE 5100

0632025PF0KS #6-32 X 1/4 PHIL FLAT M/S 18-8 SS W/ BLK POLYURETHANE HEADS 3300

0632025PP11 6-32 X 1/4" PHIL PAN MACHINE SCREW, STEEL, ZINC 25000

0632031PF11 #6-32 X 5/16" PHIL FLAT HD M/S STEEL, PLATED ZINC 7640

0632031PP24CTT 6-32 X 5/16 PHIL PN HD TFS TYPE TT STEEL, PLATED .0002 ZINC YELLOW & WAX 16400

0632037PP60CF #6-32 X 3/8" PHIL PN TFS - F, STEEL, PLATED BLACK OXIDE 4500

0632037PP93CF #6-32 X 3/8 PHIL PN HD TCS - F STEEL, PLATED .0005 ZINC & JS500 0

0632037PT11 6-32 X 3/8" PHILLIPS TRUSS HEAD M/S STEEL, ZINC 16660

0632037SP05 6-32 X 3/8" SLOT PAN MACHINE SCREW STEEL, NICKEL 6000

0632037SP60 #6-32 X 3/8 SLOTTED PAN HD M/S STEEL, PLATED BLACK OXIDE 2800

0632037SR11 #6-32 X 3/8" SLOTTED ROUND HEAD MACHINE SCREW STEEL, ZINC PLATED 10200

0632037TP50CT1 6-32 X 3/8" T15 TORX PAN HD TFS TAPTITE, STL, POLYSEAL GM#6047-M 0

0632037UW15CTT 6-32 X 3/8" UNSL HEX WASH TFS TT STEEL, ZINC & BAKE & WAX 0

0632037UW49CTT 6-32 X 3/8" UNSL HEX WASH TFS TT STEEL, ZINC & BAKE & WAX 0

0632050OO00 6-32 X 1/2 ONE WAY SLOTTED OVAL HD M/S PLAIN FINISH 6100

0632050PP00STT 6-32 X 1/2" PHIL PAN T/F/S TT 18-8 STAINLESS STEEL 170600

0719045PP60CHL 7-19 X .450" PHIL TFS "H/L" STEEL, PLATE BLACK OXIDE & OIL 0

0808250PG19CDW 8 X 2 1/2" PHIL BUGLE DRYWALL STEEL, ZINC & YELLOW 62766

0809125PF02CQC 8 X1 1/4" #2 PHIL FLAT HEAD DOUBLE AUGER POINT

"QUICK CUTTER" STEEL-CASE HARD , PLAIN & 

LUBED 5960

0809150CF60CPB 8-9 X 1 1/2" SQ/PH COMBO FLAT P/B SCREW -COARSE STEEL BLACK FINISH 6050

0809150PP55CPB 8 X 1 1/2" PHIL PAN PARTICLE BOARD

SCREW STEEL, ,8-11+ 8-9 WATCH THREAD PITCH 

BLACK 8000

0809250QF02CPB 8X2 1/2 SQ FLAT COARSE THREAD PARTICLE BOARD SCREW, STEEL, PLAIN AND OIL 1980

0810062PP12CPS 8-10 X 5/8" PHIL PAN TFS "PLASTIC APPL" BLUNT , STL, .0002 ZINC 156000

0810062QP60CPB 8-10 X 5/8 QUADREX PAN HD P/B SCREW STEEL, PLATED BLACK OXIDE,  (PHIL/SL) 3000

0810075TP12CPS 8-10 X 3/4" (T-20)6-LOBE PAN HEAD TFS BLUNT PT STEEL, PLATED .0002 ZINC 19170

0810150PF004VL 8-10 X 1 1/2" PHIL FLAT HEAD VINYL SCREW 410 STAILESS STEEL 6000

0811250PP11CPB 8-11 X 2 1/2" PHIL PAN P/B SCREW STL, ZINC 15500



0815037PP1KCA #8-15 X 3/8 PHIL PAN HEAD SMS A, STEEL ZINC W/BLACK HD PAINT 3900

0815050PF3GCA 8-15 X 1/2 PHILLIPS FLAT HEAD SMS A,

STEEL, PLATED .0005 CAD W/SANDSTONE BEIGE 

HEAD 3300

0815050PF3WCA 8-15 X 1/2 PHIL FLAT HD SMS - A

STEEL, PLATED .0005 CAD W/ HD PAINTED POLAR 

WHITE 2550

0815050PP11CAX 8-15 X 1/2 32 PHIL PN HD SMS STEEL- CASE HARD, ZINC PLATED 21300

0815050PT11CA 8-15 X 1/2 PHIL TRUSS HD SMS TYPE A STEEL, ZINC PLATED 5440

0815050UW9CCA 8-15 X 1/2 UNSLOT HWH SMS TYPE A OKATED .0005 CAD & JS500 W/ CLAY HD PAINT 5400

0815062TD54CTW 8-15 X 5/8" T20 TORX PAN WASHER HD SMS-"FAST THRD", STL, SILVER GEO 0

0815075PF00BWS 8-15 X 3/4" PHILLIPS FLAT HEAD WOOD SCREW, BRASS PLAIN FINISCH 1000

0815075PF11CS1 #8-15 X 3/4" PHIL # 6 FLAT HEAD SMS A, STL, ZINC 1950

0815075PP1CCA 8-15 X 3/4" PHIL PAN SMS A STEEL ZINC, CLAY 3000

0815075PP1GCA 8-15 X 3/4 PHIL PAN SMS A STEEL ZINC W/BEIGE HEADS 1000

0815075PP1WCA 8-15 X 3/4" PHIL PAN SMS A STEEL ZINC W/WHITE HEADS 4900

0815075PP11CA 8-15 X 3/4" PHIL PAN SMS TYPE A STEEL, PLATED ZINC 6500

0815075UW1BCA 8-15 X 3/4" UNSLOT HWH SMS, TYPE A

STEEL, ZINC PLATED W/ EXTERIOR BROWN HD 

PAINT 2000

0815087PF1GCA #8-15 X 7/8 PHIL FLAT SMS ,A, STL, ZINC W/BEIGE HDS 2250

0815112PF00SA 8-15 X 1 1/8" PHIL FLAT HD SMS , TYPE A 8-8 STAINLESS 26600

0815112PF11CA 8-15 X 1 1/8" FLAT HEAD SMS TYPE A STEEL, PLATED ZINC 42000

0815125PP20CA 8-15 X 1 1/4" PHIL PAN S/M/S A .0002 ZINC AND YELLOW 3100

0815175PF3CCA 8-15 X 1 3/4 PHIL FLT SMS-A STEEL, PLATED .0005 CAD W/ CLAY HD PAINT 11440

0815175PF11CA #8-15 X 1 3/4" PHIL FLAT SMS A STEEL, ZINC 20000

0815175PF14CA 8-15 X 1 3/4 PHIL FLAT HD SMS A STEEL, .0005 ZINC PLATED 5000

0815300QP90CA 8-15 X 3 SQ PAN HD SMS TYPE A STEEL, PLATED .0005 CAD & JS500 590

0816037TP50CP1 8-16 X 3/8" TORX PAN HD TFS PLASTITE, STEEL, BLACK POLYSEAL 0

0816100PP11CPT 8-16 X 1" PHIL PN TFS-PT, STEEL, PLATED .0003J ZINC & WAX 480

0818025PP60CAB 8-18 X 1/4 PHILLIPS PAN HD SMS - AB STEEL, PLATED BLACK OXIDE 9500

0818031PP11CHL #8-16 X 5/16" PHIL PAN H/L STL, PLAIN 26200

0818031TP50CB 8-18 X 5/16" T20 TORX PAN SMS B STEEL, POLYSEAL GM#6047-M 0

0818031TU61SB #8-18 X 5/16" T15 TORX U/C FLAT SMS B 18-SS , BLACK OXIDE WAX 20000

0818037SZ11CB 8-18 X 3/8" SLOT HEX WASHER SERR TYPE B, STEEL, ZINC 0

0818037TP00SB #8-18 X 3/8" T20 -LOBE PAN HD SMS TYPE B,302 SS, PAILN PASS 6600

0818037TP60SAB 8-18 X 3/8" T20 TORX PAN SMS AB 302 STAINLESS, BLACK OXIDE 0

1024043TF00CTT #10-24 X 7/16 T20 FLAT HD TFS - TT STEEL, PLAIN FINISH 19800

0818037TP19CAB 8-18 X 3/8" T20 6-LOBE PAN HEAD SMS TYPE AB, STEEL, ZINC & YLW 1384000

0818043TF60SB 8-18 X 7/16" T20 TORX FLAT HEAD SMS TYPE B, 302 SS, BLACK OXIDE 11500

1024050SF11 10-24 1/2 SLOT FLAT HEAD M/S STEEL, ZINC PLATED 2980

0818043TP00CAB 8-18 X 7/16 TORX PN HD SMS AB STEEL, PLAIN FINISH 100000

0818043TP00SB 8-18 X 7/16" T20 TOR PAN SMS B 302 STAINLESS, PLAIN 1800

1024050SW11CF 10-24 X 1/2" SLOT IND HEX WASHR TCS TYPE F, STEEL, ZINC 0

0818043TP13CAB 8-18 X 7/16" T20 TORX PAN HEAD S/M/S TYPE AB, STEEL PLATED .0003 ZINC 16450

1024075PF112 10-24 X 3/4" PHIL FLAT HEAD MACHINE SCREW STEEL, ZINC PLATE 0

0818043TP60CAB 8-18 X 7/16" TORX PN HD SMS - AB STEEL, PLATED  BLACK OXIDE 6300

1024075TP15CTT 10-24 X 3/4" T25 TORX PAN HEAD T/F/S TAPTITE, STL, ZINC & WAX 750

0818043TP60SB 8-18 X 7/16" T20 TORX PAN HEAD SMS B, 302 SS, BLACK OXIDE 0

1024100CT112S1 10-24 X 1" PHIL/SLOTTED TRUSS BARREL NUT STEEL, ZINC 54

1024100PP00S 10-24 X 1" PHIL PAN HD MACHINE SCREW 18-8 STAINLESS STEEL 970

0818050PF1GCAB 8-18 X 1/2" PHIL FLAT HEAD SMS TYPE AB STEEL ZINC PLATED W/BEIGE HEADS 3100

0818050PF11CT2 8-18 X 1/2" PHIL FLAT HEAD SDS # 2 PT STEEL, ZINC PLATED 23900

0818050PP1BCAB 4,275 PCS./BOX 8-18 X 1/2" PHIL PAN TYPE AB, HEADS PAINTED BROWN 12600

1024150UA00PCL 10-24 X 1 1/2" WAFER HEAD M/S WING NUT POLY, CLEAR 1500

0818050PP1GCAB #8-18 X 1/2" PHIL PAN HD SMS AB, STEEL, ZINC PLATED W/ HEADS PAINTED BEIGE 2860

1024175PP11 10-24 X 1 3/4" PHIL PAN HEAD M/S STEEL, ZINC 1658

0818050PP1WCAB 8-18 X 1/2 PHIL PN SMS - AB, STEEL, ZINC W/ HEADS PAINTED WHITE 3940

0818050PP11CAB 8-18 X 1/2 PHILLIPS PAN HEAD SMS TYPE AB, STEEL, ZINC PLATED 8900

0818050TP50CAB 8-18 X 1/2" T20 TORX PAN SMS AB, STEEL, PLATED GM#6047M POLYSEAL 0

1032018H-008NP 10-32 X 3/16" HEX SOCKET SET SCREW W/ CUP PT PLAIN W/ PATCH 0



0818050TP60SAB 8-18 X 1/2" T20 TORX PAN SMS AB 302 STAINLESS, BLACK OXIDE 10750

0818050UW9GCT2 8-18 X 1/2 UNSLOT HWH SDS #2 PT STL, .0005 CAD & JS500 W/ BEIGE HD PAINT 1000

1032025H-NP8OP #10-32 X 1/4 HEX SOCKE SET SCREW

W/ OVAL POINT, ALLOY PLATED BLK OX W/ 

PATCH 1450

1032025HS608 10-32 X 1/4" SOCKET HEAD CAP SCREW, ALLOY, BLACK 0

0818050UW9ZCT2 BULK - #8-18 X 1/2" UNSLOT HWH SDS TEK 2, STEEL, PLATED .0005 CAD WITH HD 4800

1032025PT11 #10-32 X 1/4 PHIL TRUSS HD M/S STEEL, PLATED ZINC 2040

0818050UW11CT2 #8 X 1/2" UNSLOTTED HEX WASHER #2 TEK STEEL, PLATED ZINC 6400

0818056TF60SB 8-18 X 9/16 TORX FLAT HEAD SMS B, 302 STAINLESS STEEL, PLATED BLACK OXIDE 14900

1032025SH11 #10-32 X 1/4" SLOTTED INDENTED HX HD MACHINE SCREW, STEEL, ZINC PLATED 9500

0818056TP00SB #8-18 X 9/16" T20 TORX PAN HD SMS B 302 STAINLESS STEEL, PLAIN FINISH 7050

1032031PU112NP 10-32 X 5/16" PHIL U/C FLAT MACHINE SCREW STEEL, ZINC PLT W/NYLON PATCH 0

0818062PP11CS1 8-18 X 5/8" PHIL PAN S/D/S #2 PT STEEL, ZINC (SORTED) 38100

1032031PU272NP 10-32 X 5/16" PHIL U/C FLAT MACHINE SCREW STEEL, BLACK ZC W/NYLON PATCH 0

0818062TP00SB 8-18 X 5/8" T20 6-LOBE PAN HD SMS TYPE B 302 STAINLESS, PLAIN & PASSIVATED 0

0818062TP60SB 8-18 X 5/8" T20 TORX PAN SMS B 302 STAINLESS, BLACK OXIDE 0

0818075PD50CB 8-19 X 3/4 PHIL PAN WASHER HEAD SMS, B, STEEL, PLATED POLYSEAL GM#6047M 0

0818075PF1GCT2 8-18 X 3/4" PHIL FLAT HD S/D/S # 2 PT STEEL, ZINC , W/ BEIGE HEAD 6000

0818075PF30CAB 8-18 X 3/4 PHIL FLT HD SMS - A STEEL, PLATED BLACK ZINC & WAX 5800

0818075PP00CHL 8-18 X 3/4" #6 PHIL PAN HI-LO STEEL, PLAIN FINISH 7560

0818075TP00SB 8-18 X 3/4" T20 PAN HEAD S/M/S, TYPE B 302 STAINLESS STEEL,-PLAIN 0

0818075TP50CAB 8-18 X 3/4" T20 TORX PAN HD SMS TYPE AB, STL, POLYSEAL GM#6047-M 0

0818075TP50CT2 8-18 X 3/4" T20 TORX PAN SDS #2 STEEL, POLYSEAL GM#6047-M 57000

1032037PL11 10-32 X 3/8" PHIL FILLISTER HD M/S STEEL, ZINC PLATED 0

0818075TP60SB 8-18 X 3/4" T20  TORX PAN SMS B 302 STAINLESS, BLACK OXIDE 0

1032037PO24CT1 #10-32 X 3/8 PHIL OVAL HD TFS - TAPTITE STEEL, PLATED .0002 ZINC YELLOW & WAX 13400

0818075TP11CAB 8-18 X 3/4" TORX  PAN S/M/S AB STEEL, ZINC 30000

0818087PP19CAB 8-18 X 7/8" PHILLIPS PAN HEAD SMS TYPE AB STEEL, ZINC & YELLOW 1400

1032037PU11 #10-32 X 3/8 PHIL U/C FLAT HD MACHINE SCREW STEEL, PLATED ZINC & WAX 3700

0818100PD79CAB 8-18 X 1" PHIL RD WASHER AB, STL WSD-M21P11-B2(S307) 0

1032037PU11CTT #10-32 X 3/8 PHIL U/C FLAT HD TFS TAPTITE STEEL, PLATED ZINC & WAX 23600

0818100PP11CB1 8-18 X 1" PHILLIPS PAN SMS 3/8 UNTHRD STEEL, ZINC 1300

0818100PT11CAB 8-18 X 1" PHIL TRUSS HEAD SB STEEL, ZINC 1800

1032037SP112 #10-32 X 3/8 SLOTTED PAN HEAD M/S STEEL, ZINC PLATED 3000

1032037UW15CTT #10-32 X 3/8 UNSLOT HWH, TFS TYPE TT STEEL PLATED ZINC & WAX 490

0818100TP60SAB 8-18 X 1" T20 TORX PAN SMS AB 302 STAINLESS, BLACK OXIDE 22500

0818100TP11CAB 8-18 X 1" TORX PAN SMS AB STEEL, ZINC 24500

0818125TP11CAB 8-18 X 1 1/4 TORX PN HEAD SMS TYPE AB, STEEL - ZINC 12000

1032046PO278S2 10-32 X 11.69MM PH OVAL M/S W/ SEMS GR 8 BLACKZC W/ EPOXY 23730

0818131PP11CB 8-18 X 1 5/16" PAN SMS, B STL, ZINC 8100

0818150TF60SAB 8-18 X 1 1/2" T20 TORX FLAT SMS TYPE AB, 302 SS, BLACK OXIDE 5730

1032050PU112 10-32 X 1/2" PHIL UNDERCUT FLAT MACHINE SCREW, STEEL, ZINC PLT 0

0818150TP50CAB 8-18 X 1 1/2" TORX PAN SMS TYPE SB, STL, BLACK POLYSEAL PLATED 2000

0818150TP60SAB 8-18 X 1 1/2" T20 TORX PAN SMS TYPE AB, 302 SS, BLACK OXIDE 0

0818200PP11CT2 # 8-18 X 2" PHIL PAN SDS, # 2 PT STL, ZINC 3000

0818200TP50CAB 8-18 X 2 T20 TORX PAN HD SMS - AB STEEL, PLATED GM#6047M 21000

0818250PF11CT2 8-18 X 2 1/2" PHIL FLAT S/D/S #2PT, STEEL, ZINC 480

0832012H-608NP 8-32 X 1/8" SOCKET SET SCREW CUT PT, STL, B/O W/NYLOK PATCH 0

0832018HS008LH 8-32 X 3/16" LOW HEAD SOCKET CAP SCREW, ALLOY, BLACK 7000

1032062UW11CTT 10-32 X 5/8 UNLSOT HWH TT STEEL PLATED ZINC BAKE & WAX 0

1032075PP11 10-32 X 3/4" PHIL PAN HEAD MACHINE SCREW STEEL, ZINC 750

1032100HN008 10-32 X 1" BUTTON HEAD SOCKET CAP ALLOY, BLACK 0

1032100PF11 10-32 X 1 " PHILFLT HD MACHINE SCREW STEEL, ZINC 0

0832025SP11 8-32 X 1/4 SLOT HEAD MACHINE SCREW STEEL, ZINC 4870

1032125PF11 10-32 X 1 1/4" PHIL FLAT HD M/S STEEL, ZINC 2500

0832025TP00S 8-32 X 1/4" T20 6-LOBE PAM HD

MACHINE SCREW 302 STAINLESS STL, PLAIN & 

PASSIVATE 0



1032125TP732 10-32 X 1 1/4 T25 TORX PAN HD M/S STEEL, PLATED DELTA MKS3120-BLACK 1400

1032125UX112 10 - 32 X 1 1/4" SLOTTED IND HEX HD M/S STEEL - ZINC 10050

0832025TP60S 8-32 X 1/4" TORX PAN HEAD M/S 302 STAINLESS, BLACK OXIDE 0

1032150PF11 #10-32 X 1 1/2" PHILLIPS FLAT HEAD MACHINE SCREW STEEL, PLATED ZINC 0

1032225ST11 10-32 X 21/4" SLOTTED TRUSS HD M/S STEEL, ZINC 75700

0832025UX11CF 8-32 X 1/4" UNSL HEX HD TFS "F" STEEL, ZINC PLATE 0

1032250HS608S1 10-32 X 2.50" HEX SOCKET C/S SHAVED, ALLOY, BLACK OXIDE 0

0832028PP50CT1 # 8-32 X 9/32 PHIL PAN HD T/ F / S TT STEEL PLATED POLYSEAL TO GM6074-M 4000

1211100PF05CS1 #12-11 X 1" PHIL #10 FLAT HEAD SMS -A, STEEL, NICKEL PLATED 270

0832028TP50CT1 8-32 X 9/32" T20 TORX PAN TFS TAPTITE, STEEL, POLYSEAL GM6047M 45000

1211125PF112 #12-11 X 1 1/4 PHILLIPS FLAT HEAD W/S STEEL, ZINC PLATED 129

1211175PF19CA 12-11 X 1  3/4" PHILLIPS  FLAT HEAD SMS TYPE A STEEL, ZINC & YELLOW 500

0832028TT60ST1 8-32 X 9/32" T20 TORX TRUSS TFS TAPTITE, 302 SS, BLACK OXIDE 0

0832031PP05 8-32 X 5/16 PHIL PN M/S, STEEL PLATED NICKEL 300

1211300PP3WCAS 12-11 X 3" PHIL PAN SMS A ASSEMBLY STL, .0005 CAD W/ WHITE HD PAINT 0

1211400PP3WCA 12 X 4" PHIL PN HD SMS-A STEEL

PLATED .0005 CAD & BAKE W/ POLAR WHITE HD 

PAINT 0

0832031PP11 8-32 X 5/16 PHILLIPS PAN HD TCS -F, STEEL, PLATED ZINC 9350

0832031PP11CF 8-32 X 5/16 PHILLIPS PAN HD TCS -F, STEEL, PLATED ZINC 4000

1214075UW3BCT3 12-14 X 3/4" UNSLOTTED H/W/H .0005 CAD W/ BRWN HD PAINT 5400

0832031TT60STT 8-32 X 5/16" T20 TORX TRUSS TFS "TT", 302 STAINLESS, BLACK OXIDE 15750

BAG# 14-WHITE 12-14 X 3/4" UNSL HEX WASH SDS #3 PT, STL, .0005 CAD W/WHITE HD 438

0832031TT604TT 8-32 X 5/16" T20 TORX TRUSS TFS "TT", 410 SS, BLACK OXIDE 21000

1214075UW11CT3 12-14 X 3/4 UNSLOT HWH SDS #3 TEK STEEL, ZINC PLATED 5000

1214100UW3BCT3 #12 X 1" UNSLOTTED IND HWH TEK #3

STEEL, .0005 CAD W/ HEAD PAINTED EXTERIOR 

BROWN 4200

0832031TT604TX 8-32 X 5/16" T20 TORX TRUSS TFS "TT", 410 SS, BLACK OXIDE 0

1214175UW11CT3 12-14 X 1 3/4 UNSLOT HWH SDS #3 PT STEEL, ZINC PLATED 770

0832037H-00SCP 8-32 X 3/8" HEX SOCKET SET SCREW W/CUP P T, 18-8STAINLESS PLN 3000

1214200TT12CB 12-14 X 2" 6 LOBE TRUSS SMS - B STEEL, ZINC & BAKE 34400

1224050SW00SF 12-24 X 1/2 SLOTTED HWH TCS TYPE F 18-8 STAINLESS STEEL 560

0832037H-608FP 8-32 X 3/8" SOCKET SET SCREW W/FLAT POINT, ALLOY, BLACK 0

0832037PP00S 8-32 X 3/8 PHIL PN M/S, 18-8 STAINLESS STEEL, PASSIVATED 1000

0832037PP00STT 8-32 X 3/8" PHIL PAN HD T/F/S TYPE "TT" , 18-8 STAINLESS, PLAIN 0

0832037PP50 #8-32 X 3/8" PHIL PAN M/S STEEL, PLATED POLYSEAL PER GM#6047M 11850

0832037SX11 8-32 X 3/8" SLOTTED HEX HEAD M/S STEEL, ZINC 6000

0832037TP00S 8-32 X 3/8" T20 TORX PAN MACHINE SCREW 302 STAINLESS, PLAIN 0

0832025000023P 8-32 T-NUT, FRONG, STEEL, PLAIN 1/4" BARREL HGT, 1/2" BASE 3000

0832037TP60ST1 8-32 X 3/8 " T20 TORX PAN HD TFS TAPTITE, 302   SS, BLACK OXIDE 0

0832037TT60S 8-32 X 3/8" T20 TORX TRUSS HD MACHINE SCREW, 302 SS, BLACK OXIDE 0

0832043TF50CTT 8-32 X 7/16 T15 TORX FLAT HD TFS TT STEEL, PLATED POLYSEAL GM#6047M 28700

1024027009023P 10-24 3 PRONG T-NUT , STEEL, 275 BAR LGTH

1/2" BASE DIA...245 BAR DIA , DICHROMAX CD-CL 

1000 111800

0832050HN608 8-32 X 1/2" HEX BUTTON CAP SCREW ALLOY, BLACK OXIDE 1000

1410200UX112 1/4-10 X 2" HEX HEAD LAG BOLT STEEL, ZINC 4530

1410075UX61CA 14-10 X 3/4" UNSL HEX HD(3/8" AF) SMS A, STEEL, BLACK OXIDE & WAX 0

1410250UX002 1/4-10 X 2 1/2 HEX HD LAG BOLT STEEL, PLAIN FINISH 245

1414075UW52CTW 14-14 X 3/4 UNSLOT HWH SDS #3,

STEEL, PLATED SILVER DACROMET W/ BI-WAX 

COATING 0

2520023009024P 1/4-20 4 PRONG T-NUT 1" BASE .230" BARREL HT STEEL, PLATED .0005 CAD & JS 500 172340

0832050PP13CF 8-32 X 1/2" PHIL PAN TCS TYPE F STEEL, .0003 ZINC & CLEAR 54000

2520043001124P 1/4-20 X 7/8" 4-PRONG T-NUT STEEL, ZINC & WAX 2500

0832050PT11 #8-32 X 1/2 PHIL TRUSS HD M/S, STEEL, ZINC PLATED 980

0832050PU00S23 8-32 X 1/2" PHIL UNDERCUT FLAT TCS TYPE 23, 18-8 SS, PLAIN 600

1816175PF96CTP 3/16" X 1 3/4" PHIL FLAT CONCRETE SCREW, STEEL, BLUE 21923

0832050PU004S1 8-32 X 1/2" PHIL U/C #6 FLAT HD TCS TYPE 23, 410SS, PLAIN 0

2514062UW11CAB 1/4-14 X 5/8 UNSLOT HWH SMS -AB STEEL, ZINC PLATED 6000

2514075UW54CAB 14 X 3/4" UNSLOTTED IND HEX WASHER SMS AB, STEEL, PLATED SILVER GEOMET 5000

0832050SW93CF 8-32 X 1/2" SLOT HEX WASHER TCS F STEEL, .0005 ZINC & JS500 4900

2514075UW81CAB 14-14 X 3/4 UNSLOT HWH SMS AB STEEL, PLATED ESBM21P4A5 0



0832050TP50CMS #8-32 X 1/2" T20 TORX PAN HD M/S

STEEL, HARDENED, BLACK POLYSEAL PER 

GM#6047-M 21000

0832050TP60STT 8-32X1/2" T20 TORX PAN TFS TT 302 STAINLESS, BLACK OXIDE 4000

0832062PP11 #8-32 X 5/8 PHIL PN HD M/S STEEL, ZINC PLATED 0

2520023LB9024P 1/4-20 4 PRONGT-NUT 1" BASE CAD & JS500 34420

2520025H-008CP 1/4-20 X 1/4 HEX SOCKET SET SCREW W/ CUP POINT, ALLOY PLAIN FINISH 2450

2520037H-008CP 1/4-20 X 3/8 SOCKET SET SCREW W/ CUP POINT, ALLOY - BLACK 2000

0832062SK142S1 8-32 X 5/8 SLOT KNURLED HD SHLDR SCREW . 0005 ZNC 16950

0832075SA002 8-32 X 750 SPEC SLOT WAFER HD MACHINE SCREW, PLAIN 0

0832075SA602NP 8-32 X .750" SPEC SLOT WAFER HD M/S, STL, BLACK OX W/NYLON PATCH 0

0832075TT60ST1 8-32 X 3/4" T20 TORX TRUSS T/F/S TAPTITE, 302 SS, BLACK OXIDE 7000

0832084SA*HOLD 8-32 X .843 SP SLOT WAFER HD M/S BLACK OX - DO NOT SELL TO CROSMAN 9500

0832087TT60S 8-32 X 7/8" T20 TORX TRUSS M/S 302 STAINLESS, BLACK OXIDE 8000

0832100PF00SS1 8-32 X 1"  PHIL  #7 FLAT HD T/C /S TYPE F, 18-8 STAINLESS, PLAIN 0

0832100PP11 #8-32 X 1" PHIL PN HD M/S STEEL, ZINC PLATED 3000

BAG# 3026 25 PCS/ BG 1/4" X 11/4" ZAMAC 38

2520037PT11 1/4-20 X 3/8" PHIL TRUSS HEAD M/S STEEL, ZINC 1800

0832100SF112S1 #8-32 1 SLOT FLAT HD M/S STL, ZNC PLATED W/1/2 THREAD LENGTH 63700

2520050PR11 1/4-20 X 1/2" PHIL ROUND MACHINE SCREW, STEEL, ZINC PLT 0

BAG#P154 100 PCS/BAG - 3/8-16 FINISHED HEX NUT, STEEL, ZINC PLATE 0

0832100TF00STT #8-32 X 1 TORX FLAT HD TFS - TT 302 STAINLESS STEEL 13300

2520050PT11 1/4-20 X 1/2" PHIL TRUSS HEAD M/S STEEL, ZINC 2380

0832125PT292S1 #8-32 X 1.22" SPEC #2 PHIL TRUSS HD SHOULDER M/S ,1022STL  ,0005 BLACK  ZC 0

BAG# TGS16 8 PCS 1/4-20 X 1 3/8" SL RD MS 8 PCS 1/4-20 NYL INS LOCKNUT 137

2520062PP732 1/4-20 X 5/8" PHIL PAN HEAD M/S STEEL, DELTA-MKS3120-BLK 3000

0832125TT502 8-32 X 1 1/4" T20 TORX TRUSS M/S, STL, POLYSEAL GM#6047M 0

2520062ST11 1/4-20 X 5/8" SLOT TRUSS M/S STEEL, ZINC 1800

BAG# 181-B #12 X 4" PHIL PAN SMS TYPEA , STEEL

.0005 CADMIUM W/WHITE HEADS & 

ASSEMBLED, W/NEO 27

0832150HN008 #8-32 X 1 1/2 BUTTON HEAD CAP SCREW, ALLOY, PLAIN (BLACK) 500

2520062SW11C1 1/4-20 X 5/8" SLOT HEX WASHER T/C/S TYPE 1, STEEL, ZINC 7500

2520075PP732 1/4-20 X 3/4" PHIL PAN HEAD PLATE DELTA MKS3120 BLACK 0

BAG# 2687 28 PCS /BAG 5/16 X 2 HEX HD LAG SCREW STEEL 50

0832150PF00S #8-32 X 1 1/2 PHIL FLAT HEAD MACHINE SCREW 18-8 STAINLESS STEEL PLAIN AND PASS/VAT 400

BAG#070083FHPZ WEATHER-SEAL INSTALLATION KITS 6 PCS./BAG #8 X 3" DRYWALL SCREW 7100

2520075UQ52 1/4-20 X 3/4" SQ HD BOLT GRADE 2, SILVER DACROMET 8250

2520075UR00S 1/4-20 X 3/4 CARRIAGE BOLT 18-8 STAINLESS STEEL 0

0832150PF112S1 8-32 1 1/2 PHIL FLAT HEAD M/S STEEL ZINC PLATED 3/8 THREAD LENGTH 102050

0832150TF00S #8-32 X 1 1/2 T20 FLAT HD M/S 302 SS PLAIN & PASSIVATED 12400

BAG# P155 100 PCS/BAG - 3/8" INTERNAL TOOTH LOCKWASHER, STL, ZINC 24

2520087PP60S 1/4-20 X 7/8" PHILLIPS PAN HEAD M/S 18-8 STAINLESS, BLACK OXIDE 200

0910175PF55CPB #9-10 X 1 3/4 PHIL FLAT PARTICLE BOARD SCREW, STTEL, BLACK 0

2520087TP60S 1/4-20 X 7/8" T30 TORX PAN M/S 302 STAINLESS, BLACK OXIDE 0

E-15A100HANDAP A-100 HAND APPLICATOR FOR CROSMAN PN CRS5177-043 1

2520100HF008 1/4-20 X 1" HEX SOCKET FLAT HEAD CAP SCREW, ALLOY, PLAIN 190

0910300PF19CPB 9-10 X 3" PHILLIPS FLAT PARTICLE BOARD SCREW STEEL, ZINC AND YELLOW 364

M600020UX81C M6-1.81X20MM UNSLOT HEX HEAD FLAT ,WASHER (18MM OD X 15MM THIEK) SMS -AB STL 24000

GM#11611736 .257" X .556" FLANGE HEAD MONO-BOLT RIVET STEEL, BLACK ZC NCKL 15000

0914075PF55CTW # 9-14 X 3/4 PHIL FLAT TWINFAST WOOD SCREW, STL, BLK 12000

GM#13479774 GM PART3 1349774 15MM RETAINER W/BASE, BLACK ACETAL 23460

1009062PP55CPB #10-9 X 5/8 #2 PHIL PN HD PARTICLE BOARD SCREW STEEL, BLACK 10000

INST HKTG6945 TAILGATE PROTECTOR INSTRUCTIONS (SINGLE SIDE/BLACK INK) 410

1012050PV00SA #10-12 X 1/2" PHIL UNDERCUT OVAL HEAD SMS TYPE A,18-8 STAINLESS, STL 1352

INST HKTGFORD INSTRUCTION SHEETS FOR KONETA HKTGFORD- FOLDED 389

INST K6861344 MOPAR/RAM BED MAT INSTRUCTION SHEET SOUBLE SIDED BLACK INK 132

M4.2UNUT254CS2 M4.2 X 16.8 MM PREV TORQUE U-NUT STEEL, ZC ORGANIC #GMW14100 0

INST HK470000. INSTRUCTIONS SHEET  HK470000.20P 235

M8.4X15X0.800S M8 WAVW WASHER 18-8 STAINLESS PLAIN 3450



M8.4X15X0.860S M8 WAVE WASHER, 18-8 S/S, BLACK OXIDE 15MM OD X 8.4MM ID X , 8MM THK 5000

M8.4X16X1.660S M8 FLAT WASHER,18-8 S/S, BLACK OX 16MM OD X 8.4MM ID X 1.6MM THK 5630

M600SERR0545SF M6(-1.0) SERRATED HEX FLANGE NUT, CLASS 10, SILVER GEOMET 8200

M600U-NUT52CS1 M6(-1.0) PREVAILING TORQUE U-NUT STEEL, SILVER DACROMET 1720

M800FLG00542CL M8(-1.0) PREV TORQUE U-NUT, STEEL SILVER GEOMET 3500

M800RIVNUT78AL M8(-1.25)RIV-NUT , A-L SERIES STEEL, PLT .0005 TRIVALENT TIN ZINC 0

M800SERR0515SF M8 (-1.25) SERRATED FLANGE NUT CLASS 10, BLACK GEOMET 0

1012075PP11CA 10-12X3/4" PHIL PAN HD SMS TYPE A, STEEL, ZINC PLATE 0

1012075PT60CA #10-12 X 3/4" PHIL TRUSS HD SMS - A STEEL, PLATED BLACK OXIDE 2000

1012075UW11CS1 #10-12 X 3/4 UNSLOT #8 HWH SMS TYPE A, STEEL, PLATED ZINC 1570

M100065UW478S1 M10 (-15) X 65MM HEX FLANGE BOLT W/40MM THREAD, 10.9 STL, RIE4001, BLACK 0

1012100PF11CA 10-12 X 1" PHIL FLAT SMS A STEEL, ZINC 2000

M120100UH00S M12 X 1" HEX HEAD CAP SCREW 18-8 STAINLESS STEEL, PLAIN 0

1012100PP12CA 10-12 X 1" PHIL PAN SMS A STEEL ZINC 3900

M400005SC11 M4(0.7) X 5 MM SLOT CHEESE HD M/S STEEL, ZINC PLATED 750

1012125PF1WCA #10-12 X 1 1/4" PHILLIPS FLAT HEAD S/M/S TYPE A STEE, PLATED .0005 800

M400006PP00S M4(-.7) X 6MM PHIL PAN MACHINE SCREW 18-8 STAINLESS STL 0

M400010PP29C1 M4- .7 X 10 MM PHIL PN TCS1 STEEL .0005 BLACK ZINC PLATED 108900

1012150PP00SA #10-12 X 1 1/2" PHIL PAN HD SMS- A 18-8 STAINLES STEEL - PLAIN 315

M400012PP112 M4(-.7) X 12MM PHIL PAN HD M/S STEEL, ZINC PLATED 1000

M400014UX20CS1 M4(-.7) X 14MM UNSLOT HEX CONICAL SEMS .0002 ZC & YELLOW ROHS 1500

1012150UW11CA 10-12 X 1 1/2 UNSLOTTED HWH SMS - A STEEL, ZINC PLATED 8500

M400014UX20CSS M4-.7 X 14 MM UNSLOTTED  HEX CONICAL WASHER SEMS MS, CLASS 9.8 .0002 ZINC AND BAKE 66000

M400030PF112 M4 X 30MM PHIL FLT M/S STEEL, PLATED ZNIC 2500

1012150UW11CAX 10-12 X 1 1/2 UNSLOTTED HWH SMS - A STEEL, ZINC PLATED 34690

M400035SR11 M4.7 X 35MM SLOT RD HD M/S STEEL PLATED ZINC 30000

1012200PF11CA #10-12 X 2 PHIL FLAT HD SMS - A, STEEL, ZINC PLATED 1000

1013125PO002 #10 X 1 1/4 PHIL OVAL HD WOOD SCREW PLAIN FINISH 250

1013162PO602 #10 X 1 5/8 PHILLIPS OVAL HEAD WOOD SCREW PLATED BLACK OXIDE 140

M500016TP11CT1 M5-0.8 X 16 6 LOBE PAN HEAD STEEL, ZINC, BAKE & WAX 0

M500016UW00STT M5 9-.8) X 16MM UNSLOTTED HEX WASHER HD TFS 18-8 STAINLESS , PLAIN & PASSIVATED 2450

1013200PO002 #10-13 X 2 PHIL OVAL HD WOOD SCREW PLAIN FINISH 2320

1014050PP27CPT #10-14 X 1/2" PHIL PAN HEAD TFS TYPE PT  STEEL, BLACK ZINC 1200

1014075PP11CPT 10 X 3/4 PHIL PN TFS - PT, STEEL, PLATED .0003 ZINC 465

1016037PU11C25 #10-16 X 3/8 PHIL U/C FLAT HEAD TCS TYPE 25, STEEL, PLATED ZINC 5050

M500025PP11 M5.8 X 25MM PHILLIPS PAN HEAD M/S STEEL, ZINC 300

1016037PU27C25 #10-16 X 3/8" PHIL U/C FLAT HEAD TCS TYPE 25, STEEL, PLATED BLACK ZINC 6650

1016037TP00SA1 10-16 X 3/8" T20 TORX #8 PAN HD SMS TYPE AB, 302SS, STAINLESS STEEL PLAIN 0

M600025PP732 M6 X 25MM PHIL PAN HD MACHINE SCREW, STEEL, DELTA-MKS 3120BLK 0

2520100PP732 1/4-20X1"  PHIL  PAN  HD  MACHINE SCREW,  STEEL,  DELTA - MKS - 3120BLK 2000

2520100PT79 1/4-20 X 1" PHIL TRUSS MACHINE SCREW, STEEL, S307 0

2520100UH192 1/4-20 X 1" HEX HEAD CAP SCREW 3/4" THREAD, GRADE 2, PLATED ZINC & YELLOW 1480

2520112HF008 1/4-20 X 1 1/8" HEX SOCKET FLAT HD CAP SCREW, ALLOY , BLACK 500

2520125PF11 1/4-20 X 1 1/4 PHIL FLT M/S STEEL, ZINC PLATED 2000

2520125PP90 1/4-20 X 1 1/4 PHIL PN MACHINE SCREW STEEL, PLATED .0005 CAD & JS500 3000

2520125UH112 1/4-20 X 1 1/4 HX HD CAP SCREW GR. 2 , ZINC PLATED 300

2520150PF11 1/4-20 1 1/2" PHIL FLAT HEAD M/S STEEL, ZINC 1800

2520150PP732 1/4-20 X 1 1/2" PHIL PAN MACHINE SCREW STEEL, MKS3120-BLACK 0

1016037TP60SA1 10 -16 X 3 / 8" T20 T0RX  #8 PAN HD SMS  TYPE   AB,  302SS,  BLACK  OX 16400

2520150WELD112 1/4-20 X 1 1/2" WELD SCREW STEEL ZINC 0

1016037UW11CB 10-16 X 3/8" UNSL IND HEX WASHER HEAD TYPE B STEEL, ZINC PLATED 40000

2520162PP11 1/4-20 X 1  5/8" PHIL PAN M/S STEEL, ZINC 100

M600025UR545 M6 X 25MM CARRIAGE BOLT STEEL, PLATED SILVER GEOMET 4535

2520175PF112 1/4-20 X 1 3/4" PHIL FLAT HD M/S STEEL, ZINC 900

2520175UH112 1/4-20 X 1 3/4 HEX HD CAP SCREW GR. 2 STEEL, ZINC PLATED 608

2520175UH522 1/4-20 X 1 3/4 HHC GR. 2 STEEL PLATED SILVER DACROMET 0



M710093TN19CS2 M7 (-1.0) X .338" DISH FLANG W/.120" INT HOLAES, STL, ZINC & YELLOW 0

1016050PF1GCAB #10-16 X 1/2 PHIL FLAT SMS AB STL ZC W/BEIGE HDS 530

M800025UH002 M8-1.25 X 25MM HEX HEAD BOLT CLASS 8.8, PLAIN FINISH 250

2520175UW11C1 1/4-20 X 1  3/4"UNSL HEX WASHER T/C/S TYPE 1, STEEL, ZINC 20130

2520200EYE96F1 1/4-20 X 2" FORGED EYEBOLT, SHOULDERED STEEL, HOT DIPPED GALV 33

1016050PF1WCAB #10-16 X 1/2 PHIL FLAT SMS AB, STL, ZC W/WHITE HDS 8200

2520200HA602 1/4-20 X 2 SOCKET PANCAKE HEAD M/S STEEL, PLATED BLACK OXIDE 900

M800025UW52 M8-1.25 X 25MM UNSL HEX WASHER MACHINE SCREW SILVER DIACROMET 14050

2520200SR11 1/4-20 X 2 SLOTTED ROUND HEAD M/S STEEL, ZINC PLATED 0

1016050PO11CAB #10-16 X 1/2 PHILLIPS OVAL HEAD SMS - AB, STEEL - ZINC PLATED 3700

M60001000112FN M6 X 1.0 X 10MM X 5MM HEX NUT DIN 934 CLASS 8.8 ZINC 3400

2520200UH112 1/4-20 X 2" HEX HD MACHINE BOLT STEEL, ZINC 0

2520225UH40S 1/4-20 X 2 1/4" HEX HEAD CAP SCREW, 18-8 SS, EVERLUBE EM6340 0

1016050PP92CAB 10-16 1/2" PHIL PAN SMS TYPE AB STEEL, PLATED .00035 ZINC & JS500 3700

M700000001924P M7 .4 PRONG T-NUT STEEL, PLATED ZINC & YELLOW 13900

2520225UH275 1/4-20 X 2 1/4" HEX HEAD CAP SCREW GR. 5 PLATED TRIVALENT BLACK ZINC 14300

2520225UR00S 1/4-20 X 2 1/4 CARRIAGE BOLT 18-8 STAINLESS STEEL, PLAIN FINISH 117

MOLEX190451000 MOLEX CONNECTOR 12-14 GA 67

2520250SB00NNT 1/4-20 X 2 1/2 SLOTTED BINDER HEAD MACHINE SCREW 6/6 NYLON - NATURAL 5790

RIV#AD44ABS-AL AD44ABS BLIND RIVET ALUMINUM RIVET ALUMINUM MANDREL, PAINTED VP ALMOND 9850

1016050SW11CAB #10-16 X 1/2" SLOT HWH SMS AB STEEL, PLATED ZINC 5600

2520300SR11 1/4-20 X 3 SLOTTED ROUND HEAD M/S STEEL, ZINC PLATED 0

2520300SR35 1/4-20 X 3 SLOTTED ROUND HEAD M/S STEEL, CADMIUM PLATED 0

1016050UW11CAB 10-16 X 1/2" UNSL HEX WASHER AB STEEL, ZINC 30000

1016050UW11CT2 10-16 X 1/2" UNSL HEX WASH SDS #2 PT STEEL, ZINC 28600

RIV#SSB4-2S POP RIVET SSD42SSBS 1/8" GRIP RANGE .031-.125 STAINLESS STEEL 23750

RIV#SSD-53SSBS POP RIVET - 5/32" X.125" -.187" GRIP RANGE,SS RIVET/SS MANDREL 4000

1016050UW80CS3 10-16 X 1/2" UNSL HEX FLG U/C SERR AB, STL, MAGNI 567 SORTED 1673380

1016050UZ76CT2 10-16 X 1/2" UNSL HEX WSHR SERR SDS #2 PT, STEEL, PLATE BES 108 0

1016062PA51CT2 10-16 X .630" #2 PHIL PANCAKE HD SDS #2PT, STL, BLACK GEOMET 3798

1024037PU50CTT 10-24 X 3/8" PHIL UNDERCUT FLAT TFS "TT" , STL, BLACK POLYSEAL 0

2520325UH112 1/4 - 20 X 3 1/4" HEX  HEAD  CAP  SCREW GRADE  2,  ZINC 1800

1016062TP1PCAB 10-16 X 5/8" TORX PAN SMS AB STEEL, ZINC W/HEADS PLATINUM 39000

2520350UR112 1/4-20 X 3 1/2" CARRIAGE BOLT STEEL, ZINC 0

2520400UH112FT 1/4-20 X 4" HX HD BOLT FULL THREAD STEEL, ZINC PLATED 165

1024037PU30CXX #10-24 X 3/8" PHIL U/C FLT HD TFS - TT STEEL, BLACK ZINC & WAX 0

2520500SR11 1/4-20 X 5" SLOT ROUND HD M/S STEEL, ZINC PLATED 380

1016062UW11CT2 10-16 X 5/8 UNSLOT HWH SDS #2 STEEL, ZINC PLATED 0

2520550SR11 1/4-20 X 5 1 1/2 SLOT ROUND HD M/S STEEL, ZINC PLATED 250

1024037PU15CTT 10-24 X 3/8" PHIL U/C FLAT TFS TYPE TT, STEEL, ZINC & WAX 0

2520750UR96 1/4-20 X 7 1/2 CARRAIGE BOLT W/ NUTS STEEL, HOT DIPPED GALVANIZED 50

1016075PP11CT3 # 10-16 X 3/4 PHIL PAN S/D/S #3 PT 2420

1016100TP00SAB #10-16 X 1" T20 TORX PAN HD SMS, TYPE AB, 18-8 STAINLESS STEEL 11300

1016075QR14CAB #10-16 X 3/4 # 2 SQ RD HD S/MS-AB STEEL PLATED .0005 ZINC 23500

1016075TF60SAB 10-16 X 3/4 T15 TORX FLAT HEAD SMS

TYPE AB, 302 STAINLESS STEEL, PLATED BLACK 

OXIDE 35100

3118075UH522 5/16-18 X 3/4" HEX HEAD CAP SCREW GRADE 2, SILVER DAC 33340

3118100HF008 5/16-18 X 1" HEX FLAT HD CAP SCREW ALLOY-BLACK 2400

1016087TP10CT2 10-16 X 7/8" T20 TORX #8 PAN HD #2TEK, STL, .0003ZC&HI CORR SEAL 1000

3118100PP732 5/16-18 A 1" PHIL PN HD M/S STEEL, PLATED MKS3120-BLACK 2120

3118100UR952 5/16-18 X 1 CARRIAGE BOLT STEEL, ZINC PLATED 148

1016075UW80CS2 10-16 X 3/4" UNSL HEX WASH W/SERR SDS #2, STL , MAGNI 567 13300

1016087TP00CS1 10-16 X 7/8" T20 6-LOBE # 8 PAN HEAD SMS AB STEEL, PLAIN 0

3118125UH195FT 5/16-18 X 1 1/4" HEX HEAD TAP BOLT GRADE 5, ZINC & YELLOW 396

3118150UH112 5/16-18 X 1 1/2 HX HD CAP SCREW GR. 2 STEEL, ZINC PLATED 615

3118150UH112FT 5/16-18 X 1 1/2 HX HD CAP SCREW GR. 2 STEEL, ZINC PLATED 11200

311800000112NT 5/16-18 NYLON INSERT LOCKNUT NTE, STEEL ZINC PLATED 2461

311800000052AC 5/16-18 ACORN CAP, NUT, STEEL, NICKEL FLAT 3290

3118175PL11 5/16-18 X 1 3/4 PHIL FILL M/S STEEL, ZINC 11790

252800000112NT 1/4-28 NYLON INSERT LOCKNUT, NTE STEEL, ZINC PLATED 0



311800000112S1 5/16-18 NYLON INSERT FLANGE LOCKNUT, STEEL, ZINC PLATED 173700

3118175UH222 5/16"-18 X 1  3/4" HEX CAP SCREW GRADE 2, .0005 ZINC & YELLOW 0

252002100962FN 1/4-20 HOT DIP GALV NUT 75

3118175UH605FT 5/16-18 X 1 3/4 HEX HD TAP BOLT GR. 5 STEEL, PLATED BLACK OXIDE 0

311800000112SF 5/16-18 SERRATED FLANGE LOCKNUT STEEL, ZINC PLATED 2500

3118200UBOLT11 5/16-18 X 2 X 2 11/16 U-BOLT, STEEL, PLATED ZINC 100

311800000192NE 5/16-18 NYLON INSERT L/M (NE) STEEL, ZINC & YELLOW 3180

252002100115TL 1/4-20 X 7/16" X 7/32" ALL METAL TOP LOCKNUT STEEL, ZINC PLATED 4500

3118200UH222 5/16-18 X 2" HEX HEAD CAP SCREW GRADE 2 , .0005 ZINC & YELLOW 2022

252002100002FN 1/4-20 X 7/16 X 7/32 FIN HX NUT STEEL, PLAIN FINISH 0

3118300UH112 5/16-18 X 3" HEX HEAD CAP SCREW GRADE 2, ZINC PLATED 35

311800000222KP 5/16-18 KEPS NUT,STEEL .0005 ZINC & YELLOW PLT 45350

3118350PO00S 5/16-18 X 3 1/2" PHILLIPS OVAL M/S 18-8 STAINLESS 43

3118500UH112 5/16-18 X 5" HEX HEAD BOLT A307 STEEL, ZINC 300

252000000792KP 1/4-20 "K" LOCKNUT, STEEL, PLATED S307 20850

3118600UH112 5/16-18 X 6" HEX HEAD BOLT A307 STEEL, ZINC 200

3118700UH112 5/16-18 X 7" HEX HD MACHINE BOLT GRADE 2, ZINC 10

252000000542SF 1/4-20 SERRATED HEX FLANGE NUT, STEEL, SILVER GEOMET 4900

311800000762CG 5/16-18 CAGE NUT STEEL, PLATED PER BES-108 0

3124045NUT0AS1 5/16-24 X 1/2" AF X .450"THK SHORT CONE HEX NUT

W/.060" UNTHREADED TAPP. 6061-T6 

ALUMINUM 1950

311802600112FN 5/16-18 HEX FULL FINISH NUT STEEL, PLATED ZINC 2800

3700400SF112AN 3/8" X 4" SLOTTED FLAT HD SLEEVE ANCHOR, STEEL, PLATED ZINC 200

252000000192AC 1/4-20 ACORN CAP NUT -2 PIECE STEEL, ZINC & YELLOW PLATED 7350

311802600352FN 5/16-18 X 1/2 X 17/64 FINISHED HEX NUT STEEL, CADMIUM PLATED 0

252000000152RL 1/4-20 REVERSIBLE LOCKNUT STEEL, ZINC & WAX 4500

252000000112SF 1/4-20 SERR FLANGE LOCKNUT STEEL, ZINC PLATE 5000

311802600522FN 5/16" -18 FINISHED HEX NUT , TEEL, PLATED SILVER DACROMET 94350

252000000112NE 1/4-20 NYLON INSERT LOCKNUT, TYPE NE STEEL, ZINC 2050

311802600952FN 5/16-18 FINISHED HEX NUT STEEL, ZINC PLATED 189

311802600962FN 5/16-18, GRADE 2 HEX NUT HOT DIPPED GALVANIZED 4200

311803000735TL 5/16-18 TOP LOCKNUT, AUTOMATION STEEL, DELTA-MKS3120-BLACK 500

312400000112KP 5/16-24 HEX KEPS NUT, STEEL, ZINC 2830

252000000112KP 1/4-20 KEPS NUT, STEEL, ZINC 54510

312400000198NE 5/16-24 NYLON INSERT LOCKNUT TYPE NE, GRADE C, ZINC & YELLOW 450

103201200112MS 10-32 X 3/8" X 1/8" HEX M/S STEEL, ZINC PLATE 70000

103201200002SQ 10-32 X 3/8 X 1/8 SQUARE M/S NUT STEEL, PLAIN FINISH 9930

371600000052AC 3/8-16 ACCORN CAP NUT, NICKEL PLATED 725

102401200112S1 #10-24 X 11/32" AF X 1/8" HEX MACHINE SCREW NUT, STEEL, ZINC PLT 4700

371600000112S1 3/8-16 NYLON INSERT FLANGE LOCKNUT, STEEL, ZINC PLATE 435600

371603200112FN 3/8-16 FINISHED HEX NUT STEEL, ZINC PLATE 200

083201300735TL 8-32 TOP LOCKNUT, STEEL PLATED DELTA MKS3120-BLACK 870

372411200112CP 3/8-24 X 1/2" AFX1 1/8" LGTH HEX COUPLING NUT, STEEL, ZINC PLT 250

501300000112NT 1/2-13 NYLON INSERT LOCKNUT NTE, STEEL, ZINC 1000

063201100112MS #6-32 X 5/16 X 7/64 HEX M/S NUT STEEL, ZINC PLATED 9900

501300000112SF 1/2-13 X 1" SERRATED FLANGE LOCKNUT STEEL, ZINC PLATED 410

501304300112FN 1/2-13 X 3/4" X 7/16" FIN HEX NUT STEEL, ZINC 0

063200000112KP 6-32 KEPS NUT, STEEL, ZINC 9500

501304300925FN 1/2-13 FIN HEX NUT GRADE 5 .00035 ZINC TRICHROME SEALER 690

501304300962FN 1/2-13 HEX NUT, GRADE 2 HOT DIPPED GALVANIZED 1740

044000930602MS 4-40 X 1/4" X 3/32" HEX MACHINE SCREW NUT STEEL, BLACK OXIDE 0

044000930112MS #4-40 X 1/4 X 3/32 THICK HEX M/S NUT STEEL, ZINC PLATED 9700

3700500CF112AN 3/8 X5 QUADREX FLAT HD SLEEVE ANCHOR, STTEL - ZINC PLATED 27

044000000112NM 4-40 NYLON INSERT LOCKNUT TYPE NM, STEEL, ZINC PLT 2000

044000000112KP 4-40 KEPS NUT, STEEL, ZINC 1000

31180000060SNE 5/16-18 NYLON INSERT LOCKNUT NE, 18-8 SS BLACK OXIDE 960

31000000052CS1 .312" PUSH-ON STUD RETAINER, STEEL PLATED SILVER DACROMET 0

3716150UR112SB 3/8-16 X 1 1/2" STEP BOLT, GR2, ZINC 47

3716250UR732 3/8-16 X 2 1/2" CARRIAGE BOLT STEEL, DELTA MKS-3120 BLACK 0

31000000000SS3 5/16 X 9/16 OD GROOVELESS RETAINING RING, 18-8SS. PLAIN 26200

3716262UH115SH 1/2" OD X 2.62" HEX HD SHOULDER BLT 3/8-16 THREAD GRADE 5, ZINC PLATED 0



3716350UH605FT 3/8-16 X 3 1/2" HEX HEAD CAP TAP BOLT GRADE 5, BLACK OXIDE 140

3716400UH005FT 3/8-16 X 4 HX HD TAP BOLT GR. 5 STEEL, PLAIN FINISH 150

3716700UH112 3/8 - 16 X 7" HEX  HD  MACHINE  BOLT A307  STEEL,  ZINC 0

3716800EYE11S1 3/8-16 X 8" CLOSED END EYEBOLT

5/8" EYE, 6 3/4" SHANK LENGTH, STEL, ZINC 

PLATED 70

3716900UH112 3/8-16 X 9" HEX HD MACHINE SCREW BOLT A307 STEEL, ZINC 0

3716999UH112S1 3/8-16 X 10" HEX HD MACHINE BOLT A307 STEEL, ZINC 0

5000275HS008SH 1/2" X 3/4" HEX SOCKET SHOULDER BOLT ALLOY, PLAIN 10

5013275UR005 1/2-13 X 2 3/4 CARRIAGE BOLT GR. 5 PLAIN FINISH 225

5013450UH112 1/2-13 X 4 1/2" HX BOLT A307 STEEL, ZINC 155

5013500UH112 1/2-13 X 5" HEX HEAD BOLT A307 STEEL, ZINC 70

6211400HS008 5/8-11 X 4" HEX SOCKET CAP SCREW ALLOY, PLAIN 40

12111150XF00CA #12-11 X 1 1/2" T25 PIN 6-LOBE TAMPERPROOF FLAT HEAD SMS TYPE A, STEEL- 108900

2520100S-11CCP 1/4-20 X 1" SLOT HEADLESS SET SCREW ALLOY W/ CUP PT, STEEL, PLATED ZINC 1900

25200000000SNE 1/4-20 NYLON INSERT LOCKNUT TYPE NE, 18-8 STAINLESS, PLAIN 0

25200180000SMS 1/4-20 X 7/16 X .178/.193 THICK HEX M/S NUT 18-8 STAINLESS STEEL 975

M400032UX54CS1 M4.8 X 1.59 X 32.8 MM HEX HD FLAT WASHER SEMS AB, STEEL, PS12182 0

0632043SL61CTT 6-32 X 7/16" SLOT FILLISTER HD "TT", STEEL, BLACK OXIDE & WAX 0

078X328HKEY008 5/64" LONG ARM HEX KEY ALLOY, BLACK 0

0440025SP602NP 4-40 X 1/4" SLOT PAN HD MACHINE SCREW, STL, BLACK OX W/NYLON PATCH 3800

0632018SL052S1 #6-32 X 3/16 SPECIAL SLOTTED FILLISTER FLAT TOP MACHINE SCREW, STEEL, NICKEL PLATED 5400

1032037HS008 10-32 X 3/8 HEX SOCKET CAP SCREW ALLOY, BLACK 700

093X050SPRP00C 3/32 X 1/2" SPRING PIN, STEEL, PLAIN FINISH 1100

078X050SPRP11C 5/64" X 1/2" SPRING PIN, STEEL, ZINC PLATED DRI-LOCK PN SZ-078-0500 2400

1200NEOWASH0WA #12 X 1/2" OD ALUMINUM NEOPRENE BACKED WASHER WHITE 45

102401200112MS #10-24 X 3/8 X 1/8 HX M/S NUT STEEL, PLATED ZINC 5000

189X1006X06BLN 1" OD X 188" ID X .063" THICK FLAT WASHER 6/6 NYLON, BLACK 1282

0620025TP00SB #6-20 X 1/4" T15 6-LOBE PAN HD

SMS TYPE B, 302 STAILESS STEEL PLAIN & 

PASSIVATE 0

37160000000SNE 3/8-16 NYLON INSERT LOCKNUT TYPE NE, 18-8 STAINLESS STEEL 0

M800020HS60SSH M8 X 20MM SOCKET SHOULDER BOLT 18-8 S/S, BLACK OXIDE 0

128X0238X0300S .128" ID  X .238" OD X .032" THK FLAT WASHER, 18-8 SS, PLAIN 2000

0832050PF00SS1 8-32 X 1/2" PHIL #7 FLAT HEAD TCS TYPE F, 18-8 SS, PASSIVATE 0

M800224UBLT005 M8(-1.25) X 2.24" WIDTH SQUARE BEND U-BOLT GR. 5 STEEL, PLAIN FINISH 0

RIV#SD54BS POP RIVET SD54BS STEEL, PLAIN 1000

3118037001123P 5/16-18 X 3/8" PRONG T-NUT , STL PLATED - ZINC 5000

50EPDMCLMP0SS1 1/2" CABLE CLAMP, EPDM RUBBER SLEEVE

1/4" SQUARE HOLE, 5/8" WIDE, 302 STAINLESS 

STEEL 580

320X078TUFLKBL .320" X .787" TUFLOK PUSH-TYPE RIVET, PLASTIC- BLACK 0

0832150PF27CF 8-32 X 1   1/2"  PHIL FLAT HD TCS TYPE  F,  STEEL,  BLACK  ZINC 0

3118100UW00S 5/16-18 X 1" UNSLOT IND HEX WASHR MACHINE SCREW, 18-8 STAINLESS 0

M800030UW51CCA M8 (- 1. 25 )  X  30MM  HEX  FLANGE HD BOLT  TYPE  CA,  STL,  BLACK  GEOMET 4700

285X0985X2500N .985" OD X .285" ID X .250 NYLON - NATURAL SPACER 0

265X0560X05732 265" ID X 560" OD X .05" THK FLAT WASHER, STL, DELTA-MKS3120 BLK 0

0142018PF11CAB 1-42 X 3/16" PHIL FLAT SMS AB STEEL, ZINC 0

0832050PU27CTT 8-32 X 1/2" PHIL UNDERCUT FLAT HD T/F/S TAPTITE, STL, BLACK ZC 0

3716075UR112S1 3/8-16 X 3/4" SHORT NECK CARRIAGE BOLT, STEEL, ZINC 1250

187X087GRPN60C 3/16" X 7/8" GROOVE PIN, TYPE C STEEL, CASE , BLACK OXIDE & OIL 2700

451X050CLRBSGA .451" X .500" SPECIAL COLLAR HINGE BUSHING ACETAL - BLACK 0

375CLAMP112VYL 3/8 CLAMP STEEL, VINYL COATED 4550

0640014SL002S1 6-40 X .145" SPEC SLOT FILLISTER MACHINE, SCREW, STEEL, PLAIN 0

RIV#SSD-34SSBS 3/32" X 3/8" DOME HD BLIND RIVET SS MANDREL 0

187X093SPRP00C 3/16" X 15/16" SPRING PIN CARBON STEEL, PLAIN 0

M600025UX518SS M6 X 25MM UNSLOT HX HD W/FLAT WASHER SEMS M/S CLASS 9.8 & BLACK GEOMET 113

M4X290CABLETIE M4.3 X 290MM ADJUSTABLE CABLE TIE, TYPE S PLASTIC 315

1032025PU112 10 - 32 X 1 / 4"  PHIL  U / C  FLAT  HEAD M / S,   STEEL,   ZINC 5000

RIV#SSB4-4S POP RIVET SSD44SSBS 1/8" GRIP RANGE .188-.250 S/S 5000

0632037UW49CS1 6-32 X 3/8 UNSLO HWH TFS-TT STL, PLATED 450L - SORTED 0



0832150PF112 #8-32 X 1 1/2" PHILLIPS FLAT HEAD MACHINE SCREW, STEEL PLATED ZINC 3100

M500016TP64CT1 M5.8 X 216MM T25 TORX PN HD TFS - TT STL ENVIRO BLACK 0

0832031PP23CTT 8-32 X 5/16 PHIL PAN TFS - TT, STEEL, TRIVALENT ZC BK YELLOW & WAX 0

156RPE-RING552 5/32 E RING STACKED 0

103200000272KP 10-32  KEPS  NUT,  STEEL, BLACK  ZINC  PLATE 0

2520125UR00S 1/4-20 X 1 1/4 CARRIAGE BOLT 18-8 STAINLESS STEEL 1850

25200210000SFN 1/4-20 X 7/16" AF X 7/32" HGT FINISHED HEX NUT, SS, PLAIN 0

0832025H-608FP 8-32 X 1/4" SOCKET SET SCREW W/FLAT POINT, ALLOY, BLACK 0

3100SAE00462 5/16" SAE FLAT WASHER, STEEL BLACK ZINC NICKEL PLATE 0

063X250KNOBBLK #10 THUMB SCREW KNOB  PLASTIC BLACK 0

1024073TP00SS2 #10-24 X .730" T25 TORX PAN SPECL SERR HD M/S, 302 SS, NYLOK PATCH 8070

725X1250X0100S .725 " ID X 1.250" OD X .015" THK FLAT WASHER, 18-8 SS, PLAIN 0

0632125SP16CTT 6-32 X 1 1/4" SLOT PAN TFS TT STEEL, .00015 ZINC & BAKE & WAX 0

1032SPNUT022S1 10-32 NUT PLATE, CASE HARDENED STEEL, PLAIN & LIGHT OIL 0

255X0382X19BLN .255" ID X .382" OD X .194" THK ROUND SPACER, 6/6 NYLON-BLACK 0

0832075TT00ST1 8-32 X 3/4 TORX TRUSS HD TFS 302 STAINLESS STEEL PLAIN 0

BAG# 2000002 FASTENER PACK KIT: 14 PCS 1016062PA51CT2 1 INTRUCTION SHEET K6861344 0

2500USS00462 1/4" USS FLAT WASHER, 3/4" OD STEEL, BLACK ZINC NICKEL 9800

5000EXTLW112 1/2" EXTERNAL TOOTH LOCKWASHER STEEL, ZINC 268

2520125UW11C1 1/4-20 X 1 1/4" UNSL HEX WASHER T/C/S TYPE 1, STEEL, ZINC 4000

3716750UH112 3/8-16 X 7 1/2" HEX HD MACHINE BOLT, A307 STEEL, ZINC 0

0832062TP60S 8-32 X 5/8" T20 TORX PAN M/S 302 STAINLESS, BLACK OXIDE 3000

281X1000X0400S .281 X .100 FLAT WASHER 18-8 STAINLESS STEEL 3480

0818075PP79CAB 8-18 X 3/4" PHIL PAN SMS AB, STEEL - ZINC PLATED 0

0640025HS008S1 6-40 X 1/4" HEX SOCKET CAP SCREW ALLOY, PLAIN **SMOOTH HEAD** 10000

GM#11516807 M5 X 20MM LARGE DOME HEAD BLIND RIVET ALUMINUM RIVET, ALUMINUM MANDREL 3500

1414400UW1WCT3 14-14 X 4" UNSLOTTED HEX WASHER SDS #3 PT STEEL ZINC, WITH WHITE HEAD PAINT 0

ALCHLPAD2X1.85 2" X 1.85" ALCOHOL PRE PAD

2 PACKETS PER PAIRING WARNING/CAUTION 

LABEL IN 3 LANGUAGES 3500

0832043HN608 8-32 X 7/16" BUTTON HD SOCKET CAP SCREW, ALLOY - BLK OX 0

0832037TT00S #8-32 X 3/8" T20 6-LOBE TRUSS HD M/S 302 STAINLESS STEEL, PLAIN FINISH 0

2520300UH112 1/4 - 20 X 3"  HEX  HEAD  CAP  SCREW GRADE  2,  ZINC 59

M80000000292NE M8-1.25 NYLON INSERT LOCKNUT TYPE NE, STL, .0005 BLACK ZINC 10260

2520150UH112FT 1/4-20 X 1 1/2" HEX HD TAP BOLT FULL THREAD, STEEL, ZINC 0

0818075PD79CB 8-18 X 3/4" PHIL RD WASHER SMS B PLATE S307 BLACK 0

3724025H-008FP 3/8-24 X 1/4" SOCKET SET SCREW W/FLAT POINT , ALLOY, PLAIN BLACK 0

0832031TT00STT #8-32 X 5/16" T20 6-LOBE TRUSS HEAD T/F/S  "TAPTITE EQUIVALENT", 18-8 STAINLESS PLAIN 400

2500E-RING55C 1/4" E-RING, STEEL, PHOS & OIL "STAKED" 0

0832037TP22CTT 8-32 X 3/8" T20 TORX PAN TFS FULL TRI-LOBE, STL, .0005ZC&YLLW 0

0818050TF60SA1 8-18 X 1/2" T15 TORX FLAT SMS AB 302 STAINLESS STL, BLACK OXIDE 30000

371602100152CL 3/8-16 X 9/16 X 7/32  HEX  JAM LOCKNUT,  STEEL,  ZINC  &  WAX 0

M4.2030UW46CS1 M4.2 (-1.41) X 30MM UNSLOT HEX WASHER W/

FLAT WASHER SEMS SMS THRD W/BR PT PLATED 

GMW16730 7300

BAG#HKTG6945 BAG KIT - 26PCS HK56930.S55 1 PC INSTRUCTION SHEET 0

0832031PU11CS1 8-32 X 5/16" PHIL U/C #6 HD FLT TFS TT STEEL, ZINC & WAX 0

0818050TP00SAB 8-18X1/2" T20 TORX PAN SMS AB 302 STAINLESS STEEL, PLAIN 0

25000000000SS1 .250 STUD SIZE X .437 O.D. GROVELESS RETAINER - 300 SERIES 0

0818050PP14CS1 8-18 X 1/2" PHIL PAN SMS TYPE AB STEEL, .0005 ZINC SORTED 30PPM 0

2520050PU112S1 1/4-20 X 1/2"" PHIL U/C #12 FLAT HD MACHINE SCREW, STEEL, ZINC PLATE 0

1032100PU27 10-32 X 1" PHIL UNDERCUT FLAT HD MACHINE SCREW, STEEL, BLACK ZINC 0

RIV#SS32SS 3/32 X .250" (.032-.125 GRIP) SS/SS BLIND RIVET-OPEN END #32 0

0440018H-6P8OP 4-40 X 3/16" SOCKET SET SCREW OVAL PT, ALLOY BLK W/PATCH 0

3MMX18MDOWL608 3MM X 18MM HARDENED GRND DOWEL PIN ALLOY - BLACK OXIDE 0

064001200112SP 6-40 X 1/4" AF X 1/8 " THK HEX NUT STEEL, .00015 MIN. ZINC & CLR 0

0540025PP15CTT 5-40 X 1/4" PHIL PAN   TFS "TT" STEEL, ZINC, BAKE & WAX 0

M600018STD60S1 M6 (-1.0) X 18MM BOLT FLUSH HEAD SELF CLINCH STUD, 18-8 SS, BLACK OXIDE 0

0809250PG55C 8-9 X 2 1/2" PHIL BUGLE DRYWALL SCREW-COARSE, STEEL, BLACK 0

103200000112NM 10-32 NYLON INSERT LOCKNUT NM STEEL, ZINC 1250

123X025UO60SR1 .123" X .250" OVAL HD SEMI-TUBE RIVET-SELF PIERCING, SS, BLACK 0

1032050PU272 10-32 X 1/2" PHIL UNDERCUT FLAT HD M/S STEEL, BLACK ZINC PLT 1950



10RETWSHR10C #10 RETAINING WASHER, STEEL PLATED MECH ZINC W/ SEALER 97100

252000000802CG 1/4-20 CAGE NUT, STEEL PLATED MAGNI 567 PER BES 108 12000

1016100UW80CAB 10-16 X 1" UNSL IND HEX WASHER SMS TYPE AB, PLATE MAGNI 567 29300

0632075PL11C1 6-32 X 3/4" PHIL FILL T/C/S 1 STEEL, ZINC 0

1211600PP3WCA 12-11 X 6" PHIL PAN SMS A, STL PLATE .0005 CAD & BAKE 0

087X017OV112RT .085/.089" X .168/.176" OVAL HD SEMI-TUBE RIVET, STL,BRGHT ZINC 0

2500SAE00112 1/4" SAE FLAT WASHER STL ZINC .281" ID X .625" OD X .051/.080" 3100

3724999THRD112 3/8-24 X 12" THREADED ROD STEEL, ZINC PLATE 0

252004300112RD 1/4-20 X 7/16" ROUND SPACER STEEL, ZINC 0

08180500060CHL 8-18 X 1/2" ONE-WAY SLOT OVAL HI-LO, STEEL, BLACK OXIDE 13600

0618150PF112WS 6-18X1  1/2" PHIL FLAT WOOD SCREW, STEEL, ZINC- MFG D PER IFI SPEC 0

M300008PP00SS1 M3(-1.5) X 8MM PHIL PAN HD TFS PLASTITE EQ 45, 302SS, PASSIVATE 7200

2500USS00112 1/4" USS FLAT WASHER STL ZINC .312" ID X .750" OD X .051/.080" 4850

515X1468X0500N .515" ID X 1.468" OD X .050" THK FLAT WASHER, 6/6 NYLON, NATURAL 26730

2520275UH112 1/4 20 X 2  3/4" HEX  HD CAP SCREW GRADE  2,  ZINC 0

M600025STD00S1 M6(-1.0) X 25MM FLUSH HEAD SELF CLINCH STUD, 18-8 SS PEM# FHS-M6-25 50

2520075UR11 1/4-20 X 3/4" CARRIAGE BOLT STEEL, ZINC PLATE 0

371603200152CL 3/8-16 X 9/16" X 21/64" CENTER LOCKNUT STEEL, ZINC & WAX 0

GM#11571006 CLIP TRIM 6 X 20 SLOT PLASTIC CLIP 2610

1016U-NUT54CS1 U-NUT-PER PRINT 060816 PLATED GEOMET 321 PLUS P 100960

250SNAPRNG19C 1/4"  EXTERNAL  SNAP  RING STEEL,  ZING  &  YELLOW 0

BAG#7711 EACH BAG 23 PCS: 15-#11509087 4-#11609952, 4-#11589015 0

1024225PF11 10-24 X 2 1/4" PHIL FLAT HD M/S, STEEL, ZINC PLT 0

10X100ANCHRBLN 10-12 X 1" FLUTED PLASTIC ANCHOR CONCRETE TYPE 0

#3250HCLAMP00S #32 (1/2" BAND) HOSE CLAMP 300 S/S W/STEEL ZINC SCREW 0

M800033UR005S1 M8(-1.25) X 33MM CLIPPED HEAD CARRIAGE BLT PLAIN FINISH 0

M800025UR005 M8(-1.25) X 25MM CARRAIGE BOLT STND NECK CLASS 8.8, PLAIN 0

218X087SPRP00C 7/32" X 7/8" SPRING PIN CARBON STEEL, PLAIN, BLACK & OILED 0

1032018H-008CP 10-32 X 3/16 HEX SOCKET SET SCREW W/ CUP PT 0

M4.2020TT415S2 M4.2(-1.41) X 20MM T15 TORX ROUND WASHER 

W/20MM CONICAL WASHER SMS WITH TYPE BR 

POINT 17976

GM#11547581 9MM CLIP RETAINER W/BASE SEAL .7MM TO 1.3MM ACETAL MATERIAL-NATURAL ELASTOMER BASE 10464

1032075PT00S 10-32 X 3/4" PHIL TRUSS M/S 18-8 STAINLESS STEEL 0

2528050UH115 1/4-28 X 1/2" HEX HEAD CAP SCREW GRADE 5, ZINC 0

0832125PT642S1 #8-32 X 1.22" SPEC#2 PHIL TRUSS HD SHOULDER M/S,  STEEL, PLATED .0002 ZINC & ENVIROBLACK 0

1211600PP3WCAS 12-11 X 6" PHIL PAN SMS A

STL, .0005 CAD & BAKE HEAD PNT WHITE 

ASSEMBLED 0

M600010H-00SFP M6(-1.0) X 10MM HEX SOCKET SET SCREW 

W/FLAT  POINT 18-8 STAINLESS, PLAIN & 

PASSIVATED 0

371600000112SF 3/8-16 SERRATED HX FLANGE NUT STEEL ZINC 69

372402100112JM 3/8-24 X 9/16" X 7/32" FIN HEX JAM NUT, STEEL, ZINC 0

3118175UW115FG 5/16-18 X 1 3/4" FLANGE BOLT SERRATED, GRADE 8, ZINC 116

0142031PP60CB 1-42 X 5/16" PHIL PAN SMS B STEEL, HARDENED, BLACK OXIDE 0

0620100TP50CAB 6-20 X 1" T15 TORX PAN AB STEEL, BLACK POLYSEAL GM6047-M 0

2520200PP60S 1/4-20 X 2" PHIL PAN MACHINE SCREW, 18-8 S/S, BLACK OXIDE 270

125X050SPRP00S .125" X 1/2" SLOTTED SPRING PIN 18-8 STAINLESS STEEL, PLAIN 5000

312X300HNGPN27 5/16" X 3" SPEC RIBBED HINGE PIN W/GROOVE, STL, BLACK ZINC 0

1211300PP3WCA 12-11X3" PHIL PAN SMS A STEEL .0005 HEAD PAINT POLAR WHITE 427

1016050UW76CS5 10-16 X 1/2" UNSL HEX FLG U/C SERR AB, STL, BES 108 W/NYPLAS 0

0142018PP60CB 1-42 X 3/16" PHIL PAN SMS B STEEL, BLACK OXIDE 0

0818175PF11CT2 8-18 X 1 3/4" PHIL FLAT S/D/S #2 STEEL, ZINC 0

0832025UX11 8-32 X 1/4 UNSLOT IND HEX HEAD M/S STEEL, ZINC PLATED 0

0832050UX112 8-32 X 1/2" UNSLOT IND HEX HEAD MACHINE SCREW, STEEL, ZINC 6000

1016050UW12CS3 10-16 X 1/2" UNSL HEX FLG U/C STEEL -ZINC AND 100 5 SORTED 0

3124050UH115S1 5/16-24 X 1/2" HEX HEAD CAP SCREW, GR 5,ZINC W/NYLOK PATCH 1250

0832018PP60 8-32X3/16" PHIL PAN MACHINE SCREW, STEEL, BLACK OXIDE 0

3124110RD6P2S1 5/16-24 X 1.100 O.A. STOCK LUG STL, BLACK OXIDE,W/NYLON PATCH 0

1016150PF11CT3 10-16 X 1 1/2" PHIL FLAT S/D/S #3  PT, STEEL, ZINC 0

100X0595X03052 .100"ID X .595"OD X .032"THK FLAT WASHER STEEL, NICKEL 9500



3118AVK421911 AVK4219 AS SERIES INSERT W/ ZINC TRIVALENT CHROMATE 0

301X070ORNGN70 2-011 ORING, 70 DUROMETER NITRILE (BUNA N) 0

M600PSHNT54CPT M6 X  17MM OD ROUND FLAT TYPE BOLT RETAINER PT,ST, SILV GEOM 0

129X0281X03052 .129" ID X .281"OD X .032" FLAT WASHER 1010 STL, -1/4 HARD, NICKEL 5400

426X070ORNGN70 2-013 ORING, 70 DURAMETER NITRILE (BUNA N) 1000

371600000762CG 3/8-16 CAGE NUT, STEEL, PLATED .0002 ZINC 0

0632050XN60S 6-32 X 1/2" T10 PIN TAMPERPROOF TORX BUTTON HD MACHINE SCREW 700

1024056PP21CF 10-24 X 9/16" PHIL PAN TCS F STEEL PLATE .0003 TRIVALENT ZINC BAKE 0

0818050PT11C25 8-18 X 1/2" PHIL TRUSS HEAD T/C/S TYPE 25, STEEL, ZINC 0

1032RVNUTB78AH 10-32 BRASS RIVNUT PLATED TIN ZINC CLEAR 0

0818075PF11CT2 8-18 X 3/4" PHIL FLAT SDS # 2 PT STEEL, ZINC 0

0818125PP21CAB 8-18 X 1 1/4" PHIL PAN SMS AB STEEL, .0003 ZINC & YELLOW 0

875INTRING552 7/8" INTERNAL SNAP RING STEEL, PHOS & OIL 0

M800FLGNE462S2 M8 (-1.25) NYLON INSERT FLANGE NUT STEEL, BLACK ZC MICKEL GMW16730 0

M600025TT73CS1 M6(-1.0) X25MM T40 TORX TRUSS HD TAP/R-GIM PT, DELTA KL100BLK 5000

265X0500X0600A .265" ID X .500" OD X .062" THK FLAT WASHER, ALUMINUM, PLAIN 0

25200000000BWG 1/4-20 WING NUT BRASS, PLAIN FINISH 0

1032037SX11 10-32 X 3/8" SLOT IND HEX MACHINE SCREW STEEL, ZINC PLATE 0

405X0625X090CU .405"ID X .625" OD X .091" THK FLAT WASHER, COPPER, PLAIN 0

M600145UH642 M6(-1.0) 145MM HEX HEAD BOLT CLASS 8.8 , .0003ZC & TRIV BLACK 6275

M6000100060SFN M6(-1.0) FINISHED HEX NUT 10MM HEX, 18-8 SS, BLACK OXIDE 4875

1032300PP11 10-32 X 3" PHIL PAN MACH SCREW STEEL, ZINC 0

M800025UZ002FG M8 X 1.25 X 25MM HEX FLANGE HEAD SERRATED BOLT, CLASS 8.8, ZINC 0

375X0875X0600S .375" ID X .875" OD X .084 THK FLAT WASHER, 18-8 STAINLESS 2030

1016037SZ00SAB #10-16 X 3/8 SLOTTED INDENTED HWH SMS TYPE AB W/ WHIZ LOCK LOCKING SERRATIONS 23265

3118100UH00S 5/16-18 X 1" HEX HEAD CAP SCREW 18-8 STAINLESS STEEL 2500

156X421HKEY008 5/32" LONG ARM HEX KEY ALLOY, BLACK 0

M60000000112NE M6(-1.0) NYLON INSERT LOCKNUT TYPE NE, STEEL,ZINC/DIN 985 21200

INST 2000003 INSTRUCTION SHEETS FOR BOOMERANG 2000003 G TAILGATE KIT 94

0816075TF64CPT 8-16 X 3/4" T15 TORX FLAT T/F/S PLASTITE 48-2, STL, ZC&ENVIROBLK 4600

M600020UH49CS1 M6(-1.0) X 20MM UNSL HEX W/FLAT W SEMS SWAGEFORM, BLACK NKL E-COAT 2700

188X037RIV18S1 3/16" X 3/8" SPEC HD DIA .326/338 SEMI TUBULAR RIVET,.0005 ZINC 0

0232018PP11CHL 2-32 X 3/16" PHIL PAN "H-L" BLUNT POINT, STEEL, ZINC 0

0832043PP00S 8-32 X 7/16" PHIL PAN M/S 18/8 STAINLESS STEEL 0

0832031HN608 8-32 X 5/16" BUTTON HEAD SOCKET CAP SCREW, ALLOY, BLACK 0

1016150TP11CAB 10-16X 1 1/2" TORX PAN SMS AB STEEL, ZINC 0

317X0500X03BLN .317" ID X .500" OD X .032" THK FLAT WASHER ,6/6 NYLON-BLACK 0

0619200PP11CPT 6-19 X 2" PHIL PAN TFS 48-2 PT STEEL, ZINC 0

093X346HKEY008 3/32" LONG ARM HEX KEY ALLOY, PLAIN 0

125X018U0162RT 1/8 X 3/16 OVAL HD (.218) SEMI TUBULAR RIVET, STL ,.0002 ZINC 0

0832050PP00SF 8-32 X 1/2" PHIL PAN T/C/S "F" 302 HQ STAINLES STL, PASSIVATED 0

1016075PP00SB 10-16 X 3/4" PHIL PAN SMS B 18/8 STAINLESS STEEL , PASSIVATE 0

260X470XMASNBL .260X.470 XMASS TREE CLIP NYLON, BLACK 0

M6.3030TT00SS1 M6.3 X 30MM T30 TORX SPEC. TAPERED TRUSS HEAD A2 STAINLESS, PLAIN & PASSIVATED 0

RIV#SSD43SSH 1/8" CLOSED END SEALING RIVET STAINLESS STEEL POP#SSD43SSH 0

2500INTLW112 1/4" INTERNAL TOOTH LOCKWASHER STEEL, ZINC 0

0818050PT21CAB 8-18 X 1/2" PHIL TRUSS SMS AB STEEL, .0003 ZINC & YELLOW 0

0618062PF11CA 6-18 X 5/8" PHIL FLAT SMS A STEEL, ZINC PLATE 10000

M6.3030TT63SS1 M6.3 X 30MM T30 TORX SPEC TRUSS TFS PT, A2SS, BLAK OX - ACRYLIC 0

050X293HKEY008 .050 LONG ARM HEX KEY ALLOY, BLACK 0

M800040HS60SSH M8 X 40MM SOCKET SHOULDER MOLT W/ M6 THRD 18-8 SS, BLACK OXIDE 20400

2520125CA112S1 1/4-20 X 1 1/4" PHIL/ SL WAFER WSHR M/S L.H. THRD STL, ZC 0

0632037PT00S 6-32X3/8" PHIL TRUSS MACHINE SCREW, 18-8 STAINLESS STEEL 0

0424037PF60CHL 4-24 X 3/8" PHIL FLAT HI-LO TFS STEEL, PLATED BLACK OXIDE 0

15600BALL008 .15625" STEEL BALL E52100-ALLOY STEEL - GRADE 25 2500

0818150TP11CAB 8-18 X 1 1/2" T20 TORX PAN HEAD SMS TYPE AB, STEEL, ZINC PLATE 0

2520150HF008 1/4-20 X 1 1/2" HEX SOCKET FLAT CAP SCREW, ALLOY, PLAIN FINISH 0

M600NYLFL462S1 M6(-1.0) NYLON INSERT FLANGE LOCKNUT, STL , BLK ZC W/ORGANIC 0

2528021H-602S1 1/4-28 X .215" SPEC SOCKET HEAD SCREW, 12L14 STEEL, BLACK OXIDE 0



255X0500X0300S 255"ID X .500"OD X .022"THK X .036 FREEHGT 302 STAINLESS STEEL 0

1032037PT11 #10-32 X 3/8 PHIL TRUSS HEAD M/S STEEL, PLATED ZINC 0

190SGLWAVE11C . 190 IDX . 2420DX . 030FRHTX . 006THK SINGLE  WAVE,  SPRING  STEEL,  ZINC 0

M600025TA545S1 M6 X 1.0 25MM T3O WAFER HD SHOULDER SCREW CLASS 8.8 - PLATED PS-12182 2820

INST 2000004 INSTRUCTION SHEETS 0

390X0790X39BLP 400" ID X .790" OD X .390" THK HIGH DENSITY POLETHYLENE (HDPE) BLACK 2650

1016087TP29CS1 10-16 X 7/8" T20 TORX #8 PAN HD SMS AB, STL, .0005ZC & TRIV BLK 1990

0440031H-6P8OP 4-40 X 5/16" SOC SET SCREW, OVAL POINT, ALLOY, BLACK W/PATCH 0

2520075UH112 1/4 -20 X 3/4 " HEX HEAD CAP SCREW GRADE 2 , ZINC 0

093X025CLSP00C 3/32" X 1/4" COILED SPRING PIN - STEEL, BLACK 4000

093X025SPRP00C 3/32" X 1/4" SPRING PIN, STEEL, PLAIN 0

1016050UZ00SAB 10-16 X 1/2" UNSL HEX WASHE SERR SMS TYPE AB, 18-8 STAINLESS 0

090X074PIN602 .090 X .740 SPECIAL PIN STEEL, BLACK OXIDE 0

1032037PU27CTT #10-32 X 3/8" PHIL U/C FLAT HEAD TFS " TAPTITE", STL, BLACK ZINC 23280

0832100TF46CS1 8-32 X 1" T15 TORX #7 FLAT HD T/C/S "F", STL, TRIV BLK ZC NCKL 0

0832050TF46CS1 8-32 X 1/2" T15 TORX #7 FLAT T/C/S "F", STL, TRIV BLK ZC NCKL 0

1016050SW00SS5 10-16 X 1/2" SLOT HEX WASHER GS TYPE AB, 18-8 STAINLESS STEEL 7200

50TRISOCKET#40 10 TRI #40 TRIDENT SOCKET 7/8 SOCKET DRIVE FITS 1/2-13 TRIDENT NUT 25

676X070ORNGN70 2-017 ORING, 70 DUROMETER NITRILE (BUNA N) 0

0818125PP11CB 8-18 X 1 1/2"PHIL PAN SMS B STEEL, ZINC 0

0632025H-60CDP #6-32 X .250"HEX SOCKET SCREW W/ FULL DOG POINT 0

1016050CW80CS1 10-16- X 1/2" COMBO PHIL/SLOT HEX STEEL, PLATE MAGNI-567 86400

266X0875X07112 .266" ID X .875" OD X .070" THK FLAT WASHER, STEEL, ZINC PLT 0

224X0810X0100M .220/.231 ID X .805/.815 OD X .010 MYLAR WASHER 0

INST 2000004A INSTRUCTION SHEETS K6862862 BOOMERANG 2000004 0

3700600PF112AN 3/8 X 6" COMBO SLOT/PHIL FLAT SLEEVE ANCHOR, STEEL, ZINC 50

1000046PO001S3 #10 DIAMETER X 15.5/16.25MM SPECIAL #2 OVAL HD BLANK, STEEL, PLAIN 0

203X0875X06112 203" ID X .875" OD X .062" THICK FLAT WASHER STEEL, ZINC PLATED 5000

0620037SW00SB 6-20 X 3/8" SLOT IND HEX WSHR TYPE B, 18-8 STAINLESS STEEL 0

2520087TP60SS1 1/4-20 X 7/8" T20 TORX PAN M/S 302 STAINLESS STL, BLACK OXIDE 0

0832ACRNNT60HC 8-32 X 5/16" AF X 27/64" HGT ACORN STEEL, BLACK OXIDE 0

1032050UW11 10-32 X 1/2" UNSL, IND HX WASHER HD MACHINE SCREW, STEEL, ZINC 0

1032037TT004S1 10-32 X 3/8" T20 TORX TRUSS M/S 410 STAINLESS W/ADHESIVE COAT 0

1016050UZ80CT2 10-16 X 1/2 UNSL HWH SER SDS #2, STEEL PLATED MAGNI -567 ROHS 104000

0619050PP00SPT 6-19 X 1/2" PHIL PAN TFS "PT" 18-8 STAINLESS STEEL 0

0632081PP61CF 6-32 X .813" PHIL PAN TCS TYPE F STEEL, BLACK OXIDE & WAX 0

31200E-RING19C 5/16" EXTERNAL RETAINING RING TYPE SE, STL, ZINC & YELLOW 22000

127X014FL00SRS .127" X .147" SPECIAL FLAT HEAD SOLID RIVET, 302 SS, PLAIN 0

M2.5X8.5ORNG90 2.5MMX8.5MM METRIC O-RING NITRILE (BUNA N) 90 DUROMETER 0

143X025UO00ZRT .141/.146" X .250" OVAL HD SEMI- TUBE RIVET, COPPER/NKL/ZC ALLOY 24000

1016037UW80CS4 10-16 X 3/8" UNSL HEX WASHER AB HURRICANE SCREW, MAGNI 567 243600

0632100PP112NP 6-32 X 1" PHIL PAN HD M/S STL, ZINC  W/NYLON PATCH 2900

M300008PF112 M3(-.5) X 8MM PHIL FLAT MACHINE SCREW STEEL, ZINC 3000

BAG# 2000004 FASTENER PACK 2019 RAM 8 SDS, 4 SHLD, 4 SPCR, 4 WSHR 0

5000INTLW112 1/2" INTERNATIONAL TOOTH LOCKWASHER STEEL, ZINC 0

102401200SQSMS 10-24 X 3/8 X 1/8 SQUARE M/S NUT 18-8 STAINLESS STEEL 0

1024075TP00S 10-24 X 3/4" T25 TORX PAN HEAD M/S, 302 SS, PLAIN 0

1016087TP26CS1 10-16 X 7/8" T20 TORX #8 PAN HD SMS AB, .0005ZC&YELLOW&TTWAX 7200

M600020TT468S1 M6(1.0) X 20MM T30 TRUSS/SERR M/S-DPG POINT 4037 STEEL, BLK ZINC NICKEL 10300

M800060HS648SH M8 X 60MM SHOULDER BOLT-M6 (1.0) ALLOY,.0003ZC + ENVIROBLACK 0

0632175SP16CTT 6-32 X 1 3/4" SLOT PAN TFS TT STEEL, .00015 ZINC & WAX 5000

0832BACRN602S1 8-32 X 5/16" AF X 1/2"HGT BULLET ACORN SPEC NUT W/ SERR, BLK OX 0

250020SHLSR00S 1/4" X .200" SOCKET SHLDER SCREW #10-24 THRD, STAINLESS, PLAIN 0

188RPPORING55C 3/16" EXTERNAL RETAINING RING STEEL, PHOSPHATE "STACKED" 0

M2.500200602FN M2.5 X .45 X 5MM A/F X 2MM THK HEX NUT, SYEEL, BLACK OXIDE 0

0832050SW112 8-32 X 1/2" SLOT HEX WASHER HEAD MACHINE SCREW, STEEL, ZINC 4000

1000062TT12CBS 10 X 5/8" TORX T20 TRUSS HEAD BOSSCREW, STEEL, .0002 ZINC 168300

1024075PT00S 10-24 X 3/4" PHIL TRUSS HEAD MACHINE SCREW, 18-8 SS, PLAIN 3000

0832025H-608DP 8-32 X 1/4" SOCKET SET SCREW W/ 1/2 DOG POINT, ALLOY, BLACK 0



M60RETWASHRBLN M6 RETAINIG WASHER, 6/6 NYLON BLACK .225"ID X .593" OD X .125" THK 0

280SHLDGRMTRS1 .280" X .500" X .250" SPEC SHLDR GROMMET EPDM RUBBER-60DURO 0

0832035H-00SS2 8-32 X .350" SPEC SOCSET SCREW 303 S/S W/ NYLON PATCH 0

1016075UW00CNB 10-16 X 3/4 UNSLOT HWH W/ 6 CRESENT SHAPED PAINT SCRAPING NIBS, SMS - AB 0

0832050XN60S 8-32 X 1/2" T15 PIN TAMPERPROOF TORX BUTTON HD MACHINE SCREW, SS 0

1016075UW80CS3 10-16 X 3/4" UNSL HEX WASH W/NIB SMS - AB, STEEL ,PLATE MAGNI 567 SORTED 117800

0632025PT11 6-32 X 1/4" PHIL TRUSS HD MACHINE SCREW STEEL, ZINC PLATE 0

1032062UW00SDP 10-32 X 5/8" UNSL HEX WASHER HD MACHINE SCREW, W/DOG PT, 302SS 15000

0832043CR602NP 8-32 X 7/16" SL/SQ RD HD M/S SER STEEL, BLACK OXIDE W/NYLON PATCH 0

1032150UX025 10-32 X 1 1/2" UNSL IND HX HD M/S, GRADE 5, PLAIN & OIL 0

0500EXTLW112 #5 EXTERNAL TOOTH LOCKWASHER STEEL, ZINC PLATE 0

0832026HS6N8S1 8-32 X .260 SPEC SOC STUD BOLT 4037 ALLOY, HARD, BLK OX, W/PATCH 0

0540056SO00 5-40 X 9/16" SLOT OVAL M/S STEEL, PLAIN FINISCH 0

0256025PP112S1 2-56 X 1/4" PHIL PAN INTERNAL TOOTH L/W SEMS MS, STL, ZINC 5000

344SNAPRNG19C 11/32" EXTERNAL SNAP RING STL, ZINC & YELLOW 0

125X073UT60SS1 .125" X .730"  TRUSS  HD  GROOVE PIN,  18-8  SS,  BLACK  OXIDE 0

0500HVYLW112 #5 HEAVY LOCKWASHER, STEEL,ZINC 0

0832025H-608BP 8-32 X 1/4" HEX SOCKET SET SCREW ALLOY W/BRASS POINT, BLACK 0

0832175PF11 8-32 X 1 3/4" PHIL FLAT MACHINE SCREW STEEL, ZINC 0

1016087TP50CT2 10-16 X 7/8" T20 TORX #8 PAN HD #2TEK, STL, BLACK POLY TO GM6047-M 27000

170X0375X0900R .170" ID X .375" OD X .090" THK FLAT WASHER, EPDM RUBBER 1000

1000NEOWASH0S1 #10 X 3/8" OD SEALING WASHER STAINLESS STL, EPDMRIBBER BACKED 800

2520075PP11 1/4-20 X 3/4" PHIL PAN M/S STEEL, ZINC PLATE 0

3118RVNUTB78AH 5/16-18 BRASS RIVNUT PLATED TIN ZINC TRIVALENT CLEAR 0

0620025TP60SBX 6-20 X 1/4" T15 PN HD SMS TYPE B 302 STAINLESS - POOR BLK OX 1000

5000168FL002SQ 1/2 " X1  11/16"  0. A.  FLAT   HEAD SQUARE  NECK  STUD,  STEEL,  PLAIN 0

M600040STD60S1 M6(-1.0) X 40MM FLUSH HEAD STUD 18-8 STAILESS, BLACK OXIDE 0

0440112HS608 4-40 X 1 1/8" SOCKET HEAD CAP SCREW, ALLOY , BLACK 0

0832050PP11 8-32 X 1/2" PHIL PN M/S STEEL, ZINC 2000

3118175UH00S 5/16-18 X 1 3/4" HEX HEAD CAP SCREW, 18-8 SS 0

3118100UW11C1 5/16-18 X 1" UNSLOTTED HEX WASHER TCS TYPE 1, STEEL, ZINC 0

191X0312X03002 .191" ID X .312" OD X .032"THK FLAT WASHER, STEEL, PLAIN 4500

0440062PP11 4-40 X 5/8" PHIL PAN MACHINE SCREW, STEEL, ZINC 6000

M17INTRING00S M17 INTERNAL SNAP RING DIN 472 DIN 1.4122 STAINLESS STEEL 0

M5.8036KPN46S1 M5.8 X 36.2MM SPEC KNURLED PIN W/1.6MM HOLES, STL ZC NCKL 0

M50DEE-RING60S M5 SHAFT TETAINING RING TYPE DE, STAINLESS, BLACK OXIDE 19000

M5.8037PIN46S1 M5.8 X 37.5MM SPEC COLLAR STUD M6 (-1.0), GROVE, STL, BLK ZC KNL 0

RIV#SSB4-6S 1/8" SS RIVET & MANDREL GRIP RANGE .313/.375 10800

0632X25X2500N 6-32 X .250 OD X .250 THK ROUND SPACER, 6/6 NYLON, NATURAL 5000

0440125HS608 4-40 X 1   1/4"  SOCKET  HEAD  CAP SCREW,  ALLOY,  BLACK 0

0832041UQ272S1 #8-32 X .415" UNSLOT SQUARE HD MACHINE SCREW , STL , BLACK ZINC 13800

2520050TF46CT1 1/4-20 X 1/2" T27 TORX FLAT HD T\F\S TAPTITE, STL, BLACK ZINC NCKL 500

M800RIVNUT13AH M8(-1.25) HEX RIVNUT, A-H SERIES, STEEL PLATED .0003 ZINC 110

380X0625X12BLN .380"ID X .625" OD X .125" THK FLAT WASHER 6/6 NYLON, BLACK 2100

2520050TP46CS2 1/4-20 X 1/2" T27 TORX PAN HD T/F/S TAPTITE, STL, BLK ZC NCKL 5200

M6000100060SJN M6(-1.0) X 10MM X 3.2MM HEX JAM NUT, 18-8 SS, BLACK OXIDE 5150

1.0X103ORNGN70 2-121 ORING, 70 DUROMETER NITRILE (BUNA N) 0

T10SHORTKEY608 T-10 SHORT ARM L-KEY , ALLOY HARDENED, BLACK 2000

301X070ORNGN90 2-011 .070 DIA., BUNA N, 90 DUROMETER, O-RING, BLACK 5130

2520250UH112 1/4-20 X 2 1/2" HEX HEAD CAP SCREW, GRADE 2, ZINC 0

1032050PP00S 10-32 X 1/2" PHIL  PAN    M/S 18/8  STAINLESS  STEEL 0

M2.5X8.5ORNG90 2.5MMX8.5MM METRIC O-RING NITRILE (BUNA N) 90 DUROMETER 0

31180000000SKP 5/16-18 KEPS NUT 18/8 STAINLESS STEEL 2500

252002100112FN 1/4-20 X 7/16" X 7/32" FIN HEX NUT STEEL, ZINC PLATE 2100

1032050PP11 10-32 X 1/2" PHIL PAN M/S STEEL , ZINC PLATE 2000

M1.0045TP41CPT M1-.44X4.5 MM T3 FLAT HEAD TFS PT, STEEL, BLACK ZINC NICKEL 0

0832037HN008 8-32 X 3/8" BUTTON HD SOCKET C/S ALLOY, BLACK FINISH 0

093X209HKEY008 3/32" SHORT ARM HEX KEY ALLOY,PLAIN 0

0632025HS608 6-32 X 1/4" SOCKET HEAD CAP SCREW, ALLOY, BLACK 0

0632037HS608 6-32 X 3/8" HEX SOCKET CAP SCREW ALLOY, BLACK FINISH 0

0440025HS608 4-40 X 1/4" SOCKET HD CAP SCREW ALLOY, BLACK 0

0440037HS608 4-40 X 3/8" SOCKET HEAD CAP SCREW, ALLOY, BLACK 0



0232018PP60CHL 2-32 X 3/16" PHIL PN TFS HI-LO STEEL, BLACK OXIDE 0

0632075PP61CF 6-32 X 3/4" PHIL PAN TCS F STEEL, BLACK OXIDE & WAX 0

1032025H-608BP 10-32 X 1/4" SOCKET SET SCREW ALLOY, BLACK W/BRASS TIP 0

125X037SPRP00C 1/8" X 3/8" SLOTTED SPRING PIN STEEL, BLACK 0

1800075HS008SH 3/16" X 3/4" SOCKET SHOULDER SCREW, ALLOY, BLACK OXIDE 0

125X062DOWL008 1/8 X 5/8" HARDENED GROUND MACHINE DOWEL PIN, ALLOY PLAIN 0

187X081SPRP00C 3/16" X 13/16" SLOTTED SPRING PIN, STEEL, HARDENED, PLAIN 0

219X050DOWL008 .219" X .500" DOWEL PIN-STNDRD ALLOY, PLAIN 0

0832012H-00BCP 8-32 X 1/8" SOCKET SET SCREW W/CUP POINT, BRASS, PLAIN 0

2520200PF11 1/4-20 X 2" PHIL FLAT HEAD MACHINE SCREW STEEL, ZINC PLATE 0

230X0500X09BLR .230" X 500" OD X .090" THK FLAT WASHER, BLACK EPDM RUBBER 0

2520150PP00S 1/4-20 X 1 1/2" PHILLIPS PAN HD MACHINE SCREW , 18-8 STAINLESS 0

C23747-017-4 BUNDLE-EDGE BITER .025-.055 PHOS & OIL 0

3118072INSERTR 5/16-18 X .725 THREADED INSERT BRASS, BLACK NEOPRENE 0

5013600UH112 1/2-13 X 6" HEX HEAD CAP SCREW GRADE 2, ZINC 0

M800025UQ545 M8(-1.25) X 25MM TRIMMED SQUARE HD MACHINE BOLT 0

1016100PF60CTW #10-16 X 1" PHIL FLAT TWINFAST, STEEL, PLATED BLACK OXIDE 700

1016075TP60SAB #10-16 X 3/4" T20 TORX PAN HD SMS TYPE AB, 302 STAINLESS STEEL, BLACK OXIDE 2400

0620037TP60SAB 6-20 X 3/8 T15 TORX PAN SMS TYPE AB 302 STAINLESS STEEL, BLACK OXIDE 5150

0818100TP00SAB 8-18 X 1" T20 TORX PAN SMS AB 302 STAINLESS, PLAIN 0

125X050DOWL00S 1/8"X1/2" DOWEL PIN 18-8 STAINLESS STEEL 0

1214062TF64CPT 12-14 X 5/8" T25 TORX FLAT TFS PLASTITE 48-2, STL, ENVIRO-BLACK 127500

375X300DOWL618 3/8" X 3" DOWEL PIN , ALLOY HARDENED, BLACK OXIDE & WAX 0

250X1725ROD202 1/4 X 17 1/4" ROD , 1008 STEEL .0002/ .0004 ZINC & YELLOW 2000

250X600ROD202 1/4 X 6" ROD , STEEL, .0002/.0004 TRIVALENT ZINC AND YELLOW 3000

2520100UR11 1/4-20 X 1" STD CARRIAGE BOLT STEEL, ZINC PLATE 5000

250X425ROD202 .245"/.250" DIA X 4.250 LENGTH ROD 1008 STEEL, .0002-.0004 TRI Z&Y 1010

37X37X36SQK211 3/8" X 3/8" X 36" SQUARE SHAFT STEEL, ZINC 0

M5000000060SNE M5(-.8) NYLON INSERT LOCKNUT DIN 985, 18-8 SS, BLACK OXIDE 2500

M600100UH462 M6(-1.0) X 100MM HEX HEAD CAP SCREW, CLASS 8.8,BLK ZC MICKEL 0

M600030STD60S1 M6(-1.0) X 30MM FLUSH HEAD SELF CLINCH STUD, 18-8 SS, BLACK OX 2500

RIV#SD66BSLF 3/16" X .25"-.37" LARGE FLANGE SOME HD BLIND RIVET, STL/STL 0

M600025HN00S M6 (-1.0) X 25MM BUTTON HEAD SOCKET CAP SCREW, 18-8 SS, PLAIN 0

0832150PT462S1 8-32 X 1 1/2" PHIL #10 TRUSS HD SHLDR M/S, STL, BLACK ZC NICKEL 5500

0832110PT462S2 8-32 X 1.10" SPEC PHIL TRUSS HD SHLDR M/S, BLK ZC NKL W/PATCH 0

2520075XN732 1/4-20 X 3/4" T27 PIN-TORX TMPRF BUTTON HD M/S,STL,MKS3120-BLK 0

1016U-NUT11C #10 "U" CLIP FASTENER, STEEL PLATE TRIVALENT ZINC & BAKE 3100

125X384HKEY008 1/8" LONG ARM HEX KEY ALLOY, BLACK 1500

2520075UH222 1/4-20 X 3/4" HEX HEAD CAP SCREW GRADE 2, .0005 ZINC & YELLOW 60350

2520087TN465S1 1/4-20 X 7/8" T27 TORX BUTTON MACHINE SCREW, GR 5, BLK ZC NCKL 0

1016087TP46CS1 10-16 X 7/8" T20 TORX #8 PAN SMS STEEL, TRIVALENT ZINC NICKEL 0

190X063BSHG246 .190" ID X .630 " OD SHOULDER BSHG .270" HGT, STL, .0002 BLK ZC NKL 0

083200000112SF 8-32 SERRATED FLANGE LOCKNUT STEEL, ZINC 15000

083200000112KP 8-32 KEPS NUT STEEL, ZINC 11500

M800025UR60S M8(-1.25) X 25MM CARRIAGE BOLT 18-8 SSTAINLESS, BLACK OXIDE 0

0042018TF11CPT 0-42 X 3/16" T3 6-LOBE FLAT HEAD TFS TYPE PT, STEEL, ZINC 14000

M800025TN468S1 M8(-1.25)X25MM T40 TORX BUTTONM/S 4037 STEEL, ZN NI BLACK 0

0832075TP46CT1 8-32X3/4" T20 TORX PAN HS T/F/S STEEL, ZN IN BLACK 0

M600016TP462S1 M6(-1.0) X 16MM T30 TORX PAN HD M/S, STL, BLACK ZC NCKL W/NYL PATCH 114800

1016075UW00CS3 10-16 X 3/4" SPECIAL UNSLOTTED PLAIN FINISH & LIGHT OIL 0

424X103ORNGN90 2-111, .103 DIA BUNA N 90 DUROMETER, O-RING, BLACK 5000

1016062TP11CAB 10-16 X 5/8" TORX PAN SMS STTEL, ZINC 0

3124046NYLNT0A 5/16-24 X .462 SPECIAL NYLON INSERT LOCKNUT, 6061-T6 334

00X015FUDRV11C .054/ .057 X .156 SPEC 100 FLAT TYPE U DRIVE SCREW, STL, ZINC 9600

M600NYLFG112S1 M6 (-1.0) NYLOON INSERT FLANGE LOCKNUT,STEEL, ZINC 0

2520PEMSERT00S 1/4-20 SELF CLINCH FLUSH NUT 18-8 STAINLESS, PASSIVATED 10000

0832018HN608 8-32 X 3/16" BUTTON HEAD SOCKET CAP SCREW, ALLOY , BLACK OXIDE 2500

M500016TN468 M5(-.8) X 16MM T25 TORX BUTTON M/S, ALLOY, BLACK ZINC NICKEL 0

M10NYLFLG212S1 M10 (-1.5) NYLON INS HEX FLANGE NUT, CL8,. 0003 TRIV ZC& YELLOW 0

M300006PP112S1 M3 (-.5) X 6MM PHIL PAN, HD M/S EXT TOOTH LW SEMS, STEEL, ZINC 0

549X103ORNGN90 O-RING 90 DUROMETER NITRILE BUNA-N, BLACK 0



984X139ORNGN90 2-214 AS568-113 O-RING BUNA N 90 DUROMETER 3000

1032075UX11 10-32X3/4" UNSL HEX HEAD M/S STEEL, ZINC 0

344X1000X10002 1.000" X .34" X0.100" FLAT WASHER STL PLAIN & PICKLED WITH LIGHT AND-RUST OIL 0

M2.9009PP11CAB M2.9 X 9.5MM PHILLIPS PAN HEAD SELF TAPPING SCREW STEEL, ZINC PLATE 0

0632050H-008OP 6-32 X 1/2" SOCKET SET OVAL PT ALLOY, BLACK 0

1032031HN608 10-32 X 5/16" BUTTON HEAD SOCKET CAP SCREW, ALLOY, BLACK 0

512INTRING552 .512 INTERNAL RETAINING RING PHOS HO-51ST PA 0

0632043PL65CTT 6-32 X 7/16" PHIL FILL TYPE TT STL, .0003 ENVIRO & WAX 0

0832037SW11CF 8-32 X 3/8" SLOT HEX WSHR STEEL - ZIN 0

0832062PF30CTT 8-32 X 5/8" PHIL FLAT HEAD T/F/S STEEL, BLACK ZINC & WAX 0

0832062PP25CTT 8-32X5/8" PHIL PAN TRI-POINT STEEL - ZINC 0

M800FLGNE192S2 M8 (-1.25) NYLON INSERT HEX FLANGE NUT STL, ZINC & YELLOW 135850

156X0312X03602 .156" ID X .312" OD X .032" THK FLAT WASHER, STEEL, BLK OXIDE 0

0832025H-608CN 8-32X1/4" HEX SOCKET SET SCREW

W/ CONE POINT, ALLOY, HARDENED, THERMAL 

BLACK OXIDE 2500

0800EXTLW004 #8 EXTERNAL TOOTH LOCKWASHER 410 STAINLESS, PLAIN 0

IN-05500021C #IN055 U-TYPE NUT STEEL .0003 ZINC & YELLOW 14950

0640062SL642S1 6-40 X 5/8" SPEC SLOT FILL M/S 1022 STEEL, .0003 ENVIRO-BLACK 0

M4.2025TP46CAB M4.2(-1.41) X 25MM T15 TORX PAN HEAD SMS TYPE AB, STEEL BLACK ZINC NICKEL 1900

1024187PT732 10-24 X 1 7/8" PHIL TRUSS HEAD M/S, STL, PLT MKS3120-BLACK 16400

500X0750X0900N .500" ID X .750" OD X .093" THK FLAT WASHER, 6/6 NATURAL NYLON 0

M18DISCWSHR60V 18.3 MM ID X 35.5MM OD X 2.8 MM HT B VILLE WASHER, CHR VAND STL, BO 6000

M600016TN60S M6(-1.0) X 16MM T30 TORX SPECIAL BUTTON HD M/S, 18 SS, BLACK OXIDE 0

M800CONCL592KP M8 (-1.25) CONICAL KEPS NUT STEEL, DRY PHOS GM#7111M 269360

1024050PT00S 10-24 X 1/2" PHIL TRUSS HEAD MACHINE SCREW 18-8 SS, PLAIN 2000

M6.3012TT63SS1 M6.3 (-2.54) X 12MM T30 TAPEED HD PLASTITE BLK ACRYLIC 77600

1016062TP1WCAB 10-16X5/8" TORX PAN SMS AB STEEL, ZINC W/HEADS WHITE 0

0815075PF11CA 8-15 X 3/4" PHIL FLAT SMS A STEEL, ZINC 0

M120105UW548HG M12 (-1.75) X 105MM HEAVY HEX

FLANGE MACHINE BOLT, CLASS 10.9 STL, PLATED 

GMW3359 - SILVER 0

M100034UH548S1 M10(-1.5) X 34.8MM UNSL HEX HD

MACHINE BOLT,TYPE M POINT WITH CONICAL 

WASHER 373

M4.2U-NUT54CS4 M4.2(-1.41) X 15MM TO HOLE U-NUT STEEL, ZINC ORGANIC 7000

1032150PT112 10-32 X 1 1/2" PHIL TRUSS M/S STEEL PLATE .0002 TRIVALENT ZINC 0

16MX68MTUBE462 16MM OD X 68MM LGTH X 12.5 MM ID .0002 TRIVALENT ZINC NICKEL BLACK PASSIVATE 1450

10-AU-NUT54C 10A U-NUT, P/R .025/ .064 STEEL, HARD, GEOMET 321 PLUS P 5500

1032150PT272 10-32 X 1 1/2" PHIL TRUSS M/S STEEL-PLAIN 0

0832015H-008CP 8-32 X 5/32" HEX SOCKET SET SCREW W/CUP PT, ALLOY, BLACK 0

0632100PP11 #6-32 X 1" PHIL PAN HEAD MACHINE SCREW, ZTEEL, ZINC 4000

1224037PU00S 12-24 X 3/8" PH U/C FLAT HD 18-8 S/S 270

0818075PF11CAB 8-18 X 3/4" PHIL FLAT SMS A STEEL, ZINC 334

1024150PT112 10-24 X 1 1/2" PHIL TRUSS M/S STEEL, ZINC 1340

M600RIVNUTBLHF M6(1.0) X .50MM-4.2MM HEX BODY RIVNUT,STL, GMW4700 - PRECOTE200 85000

M500FNDR0112 M5 X 15MM OD FENDER WASHER STEEL, ZINC 500

CRH2-3118-150 HALF HEX RIVNUT 0

0832000000112KP 8-32 K-LOCKNUT 0

2520087TF46CT1 1/4-20 X 7/8" T27 TORX FLAT HD T/F/S TAPTITE, STL, BLACK ZC NCKL 0

D982810173255 CABLE CLIP EDGE MPOUND PANEL .054-.089 SOLVER GEOMET 3500

M120CONCL518KP M12(-1.75) CONICAL WASHER KEPS NUT STEEL, GMW3359 3458

3118062UW11C1 5/16-18 X 5/8" UNSLOT HEX WSHR STEEL ZINC 0

0620025TP11CAB #6-20 X 1/4" T15 TORX PAN SMS AB, STL, ZINC 3800

0440012H-008FP 4-40 X 1/8" SOCKET SET SCREW W/FLAT POINT, ALLOY, BLACK 2000

M4.2022TA46CS1 M4.2-1.41X22MM T20 PANCAKE 59024

125X037DOWL008 1/8 X 3/8" HARDENED GROUND DOWEL PIN, ALLOY STEEL, PLAIN 0

0832043HS008NP 8-32 X 7/16"  SOC  HD  CAP  SCREW ALLOY,  BLACK  W/PATCHLOK 0

0832031HS608NP 8-32 X 5/16"  SOC HD CAP SCREW ALLOY, BLACK W/ PATCHLOCK 0

0632043PO61 6-32 X 7/16" PHIL OVAL MACHINE SCREW STEEL, BLACK OXIDE & WAX 0



M9027RIVTPHNBL 9MM X 27MM PHILLIPS DRIVE RIVET , NYLON - BLACK 0

141X015UT182RT 9/64" X 5/32"  SEMI  TUBULAR  RIVET STL,  .0005 ZINC&WAX   (.312HD  DIA) 0

185X281RIVT142 .182/.188 X .281 O.A. TRUSS HD SEMI TUBULAR RIVET, .0005 ZINC 0

0815050PR93CA 8-15X1/2  PHIL ROUND SMS A STL, .0005 ZC TRI- CHROME W/SEAL 0

0832050PP13C23 8-32 X 1/2" PHIL PAN TCS TYPE 23 STEE, .0003 ZINC TO PASS 96HR 0

187X122DPIN292 .187" X 1.22" DOUBLE BEND PIN W/COLLAR, STL, .0005 BLACK ZC 0

M800020UW46CCA M8 (-1.25) X 20MM UNSL HEX WASHR T/F/S TYPE CA, STL, BLK ZC NCKL 2000

281X0750X09BLN .281" ID X .750" FLG X .500" BOSS X.094" L SHLDR WASHER , NYL-BLACK 0

0632063PP18CSP 6-32 X .630" PHIL PAN SHOULDER TFS TYPE TT, STEEL , ZINC & YELLOW 0

0700RIVBURR112 #7 RIVETING WASHER, STL, ZINC (ROHS) 1/2" OD 3/16" ID X .036/.065TK 0

85578940 HARNESS 393

BAG#6638 C1YC 0

0832075TP11CT1 8-32X 3/4" T20 TORX PAN TFS 0

1016050UW80CS 10-16 X 1/2" UNSL HEX WSHR STEEL - MAGNI 567 0

0832037SW93CF 8-32 X 3/8" SLOT HEX WASHR F STEEL, .0005 ZINC & JS500 8700

0600MEDLW60S #6 MEDIUM SPLIT LOCKWASHER 18-8 STAINLESS STL, PLAIN 9000

0832035H-00SS2 8-32 X .350 SPEC SCOKET STAINLESS PLAIN 0

1016062TP1SCAB 10-16 X 5/8" TORX PAN SMS AB STEEL, ZINC W/HEADS SLATE 20000

M4.2020UW41CS2 M4.2 X 20MM UNSL HEX WSHR STEEL - PLATEDGMW16730 12484

RIV#SSK-42SSBS 1/8" X 1/8" COUNTERSUNK HEAD BLIND RIVET, SS RIVET/SS MANDRL 3000

250X850ROD202 1/4" X 8 1/2" ROD , STEEL, .0002/.0004 TRIVALENT ZC & YLW 0

1032037SW33CF 10-32 X 3/8" SLOT HEX WASHER T/C/S TYPE F, STEEL, ZINC & GREEN 0

M4.2016UW41CS1 M4.2(-1.41) X 16MM UNSL IND HEX FLNGE STEEL, GMW16730 23166

0620025PU60SAB 6-20 X 1/4" PHIL UNDERCUT FLAT HD SMS AB, 18-8 SS, BLACK OX 0

10MCLREYE922S1 10MM X 12MM SPEC COLLAR EYELET STL, .0003 TRIV ZINC & JS500 1400

250X750ROD202 .245"/ .250" DIA X 7.50" LENGTH ROD

1008 STEEL, PLATED .0002/.0004 ZINC YELLOW 

TRIVALENT(ROHS) 820

250X900ROD202 1/4 X 9" ROD , STEEL .0002/.0004 TRIVALENT ZINC & YELLOW 1000

M800029UH545S1 M8 (-1.25) X 29MM UNSL HEX HEAD W/CONICAL WASHER SEMS BOLT -MATTHREAD 0

200X0665X04002 .200" ID X .665" OD X .049" THK FLAT WASHER , STEEL, PLAIN 0

6.6"TIE/CLIPBN 1-PC CABLE TIE/FIR TREE CLIP 6.6" TIE LGHT, PA66HS-BLACK 0

M600016TP112S1 M6 (-1.0) X 16MM T30 TORX PAN M/S SEMS-SPLIT LW/FLT WASHR, STL , ZINC 0

M800FLGNE002S2 M8 (-!.25) NYLON INSERT HEX FLNGE L/N 8.8 STEEL, PLAIN 116800

188X0438X0600S .188" ID X  .438" OD X  .060"THK FLAT WASHER,300 SERIES S/S PLN 1000

1214075TF64CPT 12-14 X 3/4" T25 TORX FLAT HD PLASTITE 48-2, STL, ZC&ENVIROBLK 0

25200210005BFN 1/4-20 X 7/6 X 7/32 FIN HX NUT BRASS, NICKEL PLATED 1000

10.0MSHSPCRBLN 10.0MM X 18MM  OD X 6.5MM LG 7MM ID SHLDR SPACER, NYLON-BLK 1250

187X034UO642RT .187" X 11/32 OVAL HD SEMI -TUBE RIVET, STL, .003 TRIV BLK ZC500 15200

M800030UR515 M8 (-1.25) X 30MM CARRIAGE BOLT CLASS 8.8, GMW3359-BLACK 0

5020025H-608NP 1/2-20 X 1/4" HOLLOW-LOCK SET BLACK OXIDE W /NYLON PATCH 2940

M600040UX555S1 M6(-1.0) X 40MM SPECIAL IND HIGH HX HD M/S GR.5 3523

250TOOLNUT552 .250 X 9/16 AF X .510 SP UNTHREADED NUT W/ SERRATIONS - STEEL, PHOS PLATE 1751

M600RIVNUT78AR M6 (-1.0) RIVNUT / A-R SERIES STEEL, .0005 TRIVALENT TIN ZINC 0

M600025TT518SR M6(-1.0) X 25MM T30 TORX TRUSS SERRATIONS - STEEL - BLACK GEOMET 20760

M800025UR515 M8 (-1.25) X 25MM CARRIAGE BOLT PLATE BLACK GEOMET 47700

M800SERR0545SF M8 (-1.25) SERRATED HEX FLANGE NUT STEEL, GEOMET 35880

M9011CANOECLPN M9 X 11MM CANOE CLIP BLACK ACETAL MATERIAL 0

M4.2020TT465S1 M4.2 (-1.41) X 20MM T20 TORX

TRUSS HEAD SHOULDER TAPPING SCREW WITH 

CONICAL 0

50X078TNSCLPOS STAINLESS STEEL Z-TAB 0

M800224UBLT545 M8-1.25 X 2.24 SQ BEND  U-BOLT 0

M800033UR545S1 M8(-1.25) X 33MM SP CLIPPED HD CARRIAGE BLT - SILVER GEOMET 4997

M800020UZ545FG M8 (-1.25) X 20MM SERRATED HEX STEEL - SILVER GEOMET W/PLUS L PER GMW 14 6673

50X072RTNCLP0S 1/2" X .723" SPECIAL RETENTION CLIP, 304 STAINLESS STEEL PLAIN & PASSIVATED 24579

M4.2UNUT54CS3 M4.2(-1.41) PUSCH-IN U-NUT STEEL, PLATED GMW3359 0

M4.2020UW88CS2 M4.2(-1.41) X 20MM UNSLOT HEX WASHER HD/FLAT WASHER SEMS SMS 3407

GM#11589329 GM PART# 11589329 U-CLIP 514

RIV#0BF0100523 M4 X 21.2MM BULB TYPE BLIND RIVET, ALUM RIV/ALUM MAND-PLAIN 5495

GM#11601845 LARGE W-CLIP 3903



M600023UH545S1 M6 X 23MM HEX SEMS BOLT 29395

GM#11611079 MOULDING CLIP 4242

GM#11569960 M4.2 SPEED NUT 4000

M600FLG00512NS M6(-1.0) NON SERRATED FLANGE HEX NUT, CLASS 8, GMW3359-BLK 11810

M4.2025UX88CS1 M4.2 (-1.41) X 25MM UNSLOT HEX FLAT WASH SEMS, STL, GMW4205 1994

GM#11609923 M9 RETAINER CLIP W/BASE ACETAL MATERIAL W/ FROAM SEALING WASHER 1962

GM#11609335 M6 SPIN NUT STEEL, PLATED SILVER GM7111M 3720

GM#09442974 BLIND RIVET- BLACK ANODIZE 167

50X078TNSCLP0S 1/2 X .781" SPECIAL Z TAB TENSION BRACKET 302 STAINLESS (FOR J-MARK ENCLAVE BAG) 31514

1032037UX11 10-32 X 3/8" UNSLOT IND HEX MACHINE SCREW STEEL, ZINC PLATE 2000

197X0500X02BS1 #10 TERMINAL CUP WAHSER, BRASS .197ID X .500 OD X .026THK X .096HT 0

1224150PF112 12-24 X 1 1/2" PHIL FLAT HEAD M/S, STEEL, TRIVALENT ZINC 1000

317X0625X0400S .317" IDX. 625" ODX. 047" THKX. 059 FR HT, BELLEVILLE SPR WSHR  S/S 0

375X0625X0100B 3/8" ID X 5/8" OD X .015"THK FLAT WASHER, BRASS-FULL HARD, PLAIN 0

25X2212BROD202 1/4 X 22 1/8" BENT ROD, STEEL .0002/.0004 ZINC & YELLOW 100

0832025TP11CTT 8-32 X 1/4" T20 SIX LOBE PAN HD TFS TYPE TT, STEEL, ZINC 4000

0832084SA602NP 8-32 X . 843" SLOT WAFER  M/S,  STL BLACK OXIDE W/NYLON PATCH 8750

11.4MSHSPCRBLN 11.4MM X 18.4MM OD X 8.5MM LG 8MM ID SHLDR, NYLON-BLK 560

1024075TF41CTT 10-24 X 3/4" T20 FLAT F/F/S "TT" STEEL, ZI NI BLK 3000

3118100SW11C1 5/16-18 X 1"  SLOTTED HEX WASHER TCS TYPE 1, STEEL, ZINC 1780

M12X15INST46S1 M12 (-1.75) X 15MM SOCKET INSERT W/M6 (-1.0) HOLE , STL, BLACK ZC240 0

M800FLGNE112S2 M8(-1.25) NYLON INSERT HEX FLANGE LOCKNUT, CLASS 8 STEEL 204000

1016100PP60SB 10-16 X 1" PHIL PAN SH SMS B0818062PP60SB 18-8 STAINLESS, BLACK OXIDE 3000

0818062PP60SB 8-18 X 5/8" PHIL PAN HD SMS B 18-8 STAINLESS, BLACK OXIDE 4850

190X063BSHG200 .190" ID X .630 " OD SHOULDER BSHG .270" HGT, STL, PLAIN FINISH 53650

750INTRING552 .750 INTERNAL REATIN RING STEEL, BLACK PHOSPHATE 1000

M600020HN468 M6 (-1.0) X 20MM BUTTON HEX SCKT C/S, CLASS 12.9, BLACK ZC NICKEL 5000

0440018H-608CP 4-40X3/16" SOCKET SET SCREW W/CUP PIONT, ALLOY, BLACK 1250


